

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000001
 Roll No. 255125855
 Regn. No. 25-DEO-855

Name : KUSHWAHA ROHIT DILBAHAR
 Father's Name : DILBAHAR KUSHWAHA
 Mother's Name : CHANDRAKALADEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 57 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 62 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 63 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 40 28 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 53 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 47 25 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0479 | | 0600 | | | 24.0 | 216.0 |
| | GRAND TOTAL | 0479 | | 0600 | | | 24.0 | 216.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000002
 Roll No. 255125856
 Regn. No. 25-DEO-856

Name : AAKASH GAUR
 Father's Name : VIJAY GAUR
 Mother's Name : VANDANA GAUR
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 59 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 62 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 59 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 54 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 39 27 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0467 | | 0600 | | | 24.0 | 212.0 |
| | GRAND TOTAL | 0467 | | 0600 | | | 24.0 | 212.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000003
 Roll No. 255125857
 Regn. No. 25-DEO-857

Name : MUSKAN KHANNA
 Father's Name : ANIL KHANNA
 Mother's Name : LATE MEENU KHANNA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 56 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 63 28 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 59 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 54 28 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 50 28 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| | TOTAL | 0478 | | 0600 | | | 24.0 | 216.0 |
| | GRAND TOTAL | 0478 | | 0600 | | | 24.0 | 216.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000004
 Roll No. 255125858
 Regn. No. 25-DEO-858

Name : POOJA
 Father's Name : MEGHRAJ BAGHEL
 Mother's Name : RUPAN DEVI BAGHEL
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 46 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 59 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 61 21 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 36 25 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 49 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 35 21 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0423 | | 0600 | | | 24.0 | 196.0 |
| | GRAND TOTAL | 0423 | | 0600 | | | 24.0 | 196.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.17

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000005
 Roll No. 255125859
 Regn. No. 25-DEO-859

Name : ANIL KUMAR YADAV
 Father's Name : KAMTA SINGH YADAV
 Mother's Name : SHIV KUMARI DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 55 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 47 28 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 50 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 32 27 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 48 25 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 32 22 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| | TOTAL | 0417 | | 0600 | | | 24.0 | 192.0 |
| | GRAND TOTAL | 0417 | | 0600 | | | 24.0 | 192.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000006
 Roll No. 255125861
 Regn. No. 25-DEO-861

Name : SHIVAM BHARDWAJ
 Father's Name : NAIB BHARDWAJ
 Mother's Name : RENU BHARDWAJ
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 44 18 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 46 20 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 55 20 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 34 23 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 55 17 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 51 17 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0400 | | 0600 | | | 24.0 | 188.0 |
| | GRAND TOTAL | 0400 | | 0600 | | | 24.0 | 188.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000007
 Roll No. 255125862
 Regn. No. 25-DEO-862

Name : PRACHI
 Father's Name : JAIBIR SINGH
 Mother's Name : JAGVATI DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 57 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 59 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 56 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 40 26 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 53 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 42 21 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0459 | | 0600 | | | 24.0 | 208.0 |
| | GRAND TOTAL | 0459 | | 0600 | | | 24.0 | 208.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.67

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000008
 Roll No. 255125863
 Regn. No. 25-DEO-863

Name : NITIN SRIVASTAVA
 Father's Name : ASHOK KUMAR SRIVASTAVA
 Mother's Name : MAMTA SRIVASTAVA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 59 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 63 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 58 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 38 27 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 55 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 44 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0469 | | 0600 | | | 24.0 | 216.0 |
| | GRAND TOTAL | 0469 | | 0600 | | | 24.0 | 216.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000009
 Roll No. 255125864
 Regn. No. 25-DEO-864

Name : AMIT KUMAR
 Father's Name : KUNDAN LAL
 Mother's Name : RAMI DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 44 20 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 50 18 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 54 21 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 30 22 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 47 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 43 17 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0387 | | 0600 | | | 24.0 | 180.0 |
| | GRAND TOTAL | 0387 | | 0600 | | | 24.0 | 180.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000010
 Roll No. 255125865
 Regn. No. 25-DEO-865

Name : ASHANA
 Father's Name : SOHAN LAL
 Mother's Name : SUNIL DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 37 22 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 29 25 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 43 21 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 38 22 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 41 19 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 30 19 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| | TOTAL | 0346 | | 0600 | | | 24.0 | 156.0 |
| | GRAND TOTAL | 0346 | | 0600 | | | 24.0 | 156.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 6.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000011
 Roll No. 255125866
 Regn. No. 25-DEO-866

Name : KAMAL SADAF SHUJAIDDIN KHALID
 Father's Name : SHUJAIDDIN
 Mother's Name : ZAHIDA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 52 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 46 20 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 30 13 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 35 15 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 28 12 | 40AG | 100 | P | 4 | 04.0 | 16.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 39 17 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0329 | | 0600 | | | 24.0 | 152.0 |
| | GRAND TOTAL | 0329 | | 0600 | | | 24.0 | 152.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 6.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000012
 Roll No. 255125867
 Regn. No. 25-DEO-867

Name : MEHAK
 Father's Name : RAJKUMAR
 Mother's Name : POOJA RANI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 62 24 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 63 28 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 62 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 56 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 53 29 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| | TOTAL | 0492 | | 0600 | | | 24.0 | 220.0 |
| | GRAND TOTAL | 0492 | | 0600 | | | 24.0 | 220.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 9.17

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000013
 Roll No. 255125869
 Regn. No. 25-DEO-869

Name : HARMIT SINGH
 Father's Name : GOPAL SINGH
 Mother's Name : SANTOSHI SINGH
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 57 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 50 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 53 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 34 15 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 47 20 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 38 15 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| | TOTAL | 0396 | | 0600 | | | 24.0 | 180.0 |
| | GRAND TOTAL | 0396 | | 0600 | | | 24.0 | 180.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000014
 Roll No. 255125872
 Regn. No. 25-DEO-872

Name : HARI SHANKAR PANDEY
 Father's Name : SATISH CHAND
 Mother's Name : SAVITRI DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 48 25 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 40 27 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 56 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 24 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 44 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 37 20 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0403 | | 0600 | | | 24.0 | 188.0 |
| | GRAND TOTAL | 0403 | | 0600 | | | 24.0 | 188.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000015
 Roll No. 255125873
 Regn. No. 25-DEO-873

Name : ANUGRAH PUROHIT
 Father's Name : PRABHAT KUMAR PUROHIT
 Mother's Name : KALYANI PUROHIT
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 48 26 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 28 12 * | 40AG | 100 | P | 4 | 04.0 | 16.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 28 12 * | 40AG | 100 | P | 4 | 04.0 | 16.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 22 9 F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 37 24 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 28 21 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| | TOTAL | *** | | 0600 | | | 24.0 | 112.0 |
| | | | | | | | 24.0 | 112.0 |

RESULT : RE - TILL JUN- 2027 IN : MBAD-104

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000016
 Roll No. 255125874
 Regn. No. 25-DEO-874

Name : KIRAN DEVI
 Father's Name : MEHTAB SINGH
 Mother's Name : SEEMA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 58 20 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 55 17 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 62 17 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 13 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 55 16 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 40 16 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0406 | | 0600 | | | 24.0 | 188.0 |
| | GRAND TOTAL | 0406 | | 0600 | | | 24.0 | 188.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000017
 Roll No. 255125876
 Regn. No. 25-DEO-876

Name : S SANTOSH
 Father's Name : SANMUGAM
 Mother's Name : DURGA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 50 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 49 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 59 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 35 24 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 53 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 41 22 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0428 | | 0600 | | | 24.0 | 196.0 |
| | GRAND TOTAL | 0428 | | 0600 | | | 24.0 | 196.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.17

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000018
 Roll No. 255125879
 Regn. No. 25-DEO-879

Name : SHUBHAM
 Father's Name : JAI BHAGWAN
 Mother's Name : RAM DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 58 21 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 53 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 56 22 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 33 22 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 51 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 43 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0429 | | 0600 | | | 24.0 | 204.0 |
| | GRAND TOTAL | 0429 | | 0600 | | | 24.0 | 204.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000019
 Roll No. 255125880
 Regn. No. 25-DEO-880

Name : MUSKAN RAJAL
 Father's Name : ASHOK KUMAR
 Mother's Name : BINDU
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 60 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 55 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 61 25 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 33 25 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 52 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 40 20 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0444 | | 0600 | | | 24.0 | 204.0 |
| | GRAND TOTAL | 0444 | | 0600 | | | 24.0 | 204.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMIN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000020
 Roll No. 255125881
 Regn. No. 25-DEO-881

Name : VISHALI
 Father's Name : DEVI DAYAL
 Mother's Name : SUSHILA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 55 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 60 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 54 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 39 14 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 53 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 38 18 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0434 | | 0600 | | | 24.0 | 200.0 |
| | GRAND TOTAL | 0434 | | 0600 | | | 24.0 | 200.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000021
 Roll No. 255125882
 Regn. No. 25-DEO-882

Name : DEEVANSHU KUMAR
 Father's Name : AMRISH KUMAR
 Mother's Name : NEELAM RANI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 59 19 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 60 22 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 57 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 23 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 60 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 42 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0451 | | 0600 | | | 24.0 | 204.0 |
| | GRAND TOTAL | 0451 | | 0600 | | | 24.0 | 204.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000022
 Roll No. 255125883
 Regn. No. 25-DEO-883

Name : DAYANAND
 Father's Name : BABURAO DARGE
 Mother's Name : REVAMMA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 62 24 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 55 29 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 57 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 28 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 53 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 45 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0464 | | 0600 | | | 24.0 | 212.0 |
| | GRAND TOTAL | 0464 | | 0600 | | | 24.0 | 212.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000023
 Roll No. 255125884
 Regn. No. 25-DEO-884

Name : SHIVANSH CHOURHARY
 Father's Name : RAVINDAR KUMAR
 Mother's Name : SHASHI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 58 20 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 54 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 55 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 38 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 42 24 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 34 19 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| | TOTAL | 0423 | | 0600 | | | 24.0 | 192.0 |
| | GRAND TOTAL | 0423 | | 0600 | | | 24.0 | 192.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000024
 Roll No. 255125885
 Regn. No. 25-DEO-885

Name : ASHWANI KUMAR
 Father's Name : DEEP RAJ
 Mother's Name : BEENA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 21 24 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | AB 26 F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | AB 22 F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | AB 11 F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | AB 23 F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | AB 22 F | 40AG | 100 | F | 0 | 04.0 | 0 |
| | TOTAL | *** | | 0600 | | | 24.0 | 020.0 |
| | | | | | | | 24.0 | 20.0 |

RESULT : RE - TILL JUN- 2027 IN : MBAD-102 MBAD-103 MBAD-104 MBAD-105 MBAD-106

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000025
 Roll No. 255125886
 Regn. No. 25-DEO-886

Name : SHETTIWAR THRIYA SUDHIRRAO
 Father's Name : SUDHIRRAO
 Mother's Name : MINAL
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 55 21 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 37 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 54 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 32 24 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 48 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 43 21 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0408 | | 0600 | | | 24.0 | 188.0 |
| | GRAND TOTAL | 0408 | | 0600 | | | 24.0 | 188.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000026
 Roll No. 255125887
 Regn. No. 25-DEO-887

Name : JHANVI SHARMA
 Father's Name : SANJEEV SHARMA
 Mother's Name : ARUNA SHARMA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 60 22 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 50 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 52 17 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 34 24 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 53 19 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 56 17 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0426 | | 0600 | | | 24.0 | 192.0 |
| | GRAND TOTAL | 0426 | | 0600 | | | 24.0 | 192.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000027
 Roll No. 255125888
 Regn. No. 25-DEO-888

Name : ANSHUL KUMAR MISHRA
 Father's Name : ALOK KUMAR MISHRA
 Mother's Name : ASHA MISHRA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 18 4 F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 10 3 F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 15 6 F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 12 5 F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 15 6 F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 12 3 F | 40AG | 100 | F | 0 | 04.0 | 0 |
| | TOTAL | **** | | 0600 | | | 24.0 | 000.0 |
| | | | | | | | 24.0 | 0.0 |

RESULT : RE - TILL JUN- 2027 IN : FAIL

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000028
 Roll No. 255125889
 Regn. No. 25-DEO-889

Name : SINGH ABHIRAJ KUMAR NIRAJ
 Father's Name : NIRAJ
 Mother's Name : BEENA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 28 16 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 24 9 F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 30 10 * | 40AG | 100 | P | 4 | 04.0 | 16.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 24 10 F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 19 11 F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 20 20 | 40AG | 100 | P | 4 | 04.0 | 16.0 |
| | TOTAL | *** | | 0600 | | | 24.0 | 052.0 |
| | | | | | | | 24.0 | 52.0 |

RESULT : RE - TILL JUN- 2027 IN : MBAD-102 MBAD-104 MBAD-105

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000029
 Roll No. 255125890
 Regn. No. 25-DEO-890

Name : VIKASH MISHRA
 Father's Name : GUNKAR RAM MISHRA
 Mother's Name : LALITA DEVI MISHRA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 58 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 56 30 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 57 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 40 27 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 53 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 50 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0470 | | 0600 | | | 24.0 | 212.0 |
| | GRAND TOTAL | 0470 | | 0600 | | | 24.0 | 212.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000030
 Roll No. 255125891
 Regn. No. 25-DEO-891

Name : PRIYA KUMARI
 Father's Name : ANIL KUMAR DUBEY
 Mother's Name : JAYA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 50 20 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 46 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 49 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 30 19 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 46 20 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 39 17 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0381 | | 0600 | | | 24.0 | 176.0 |
| | GRAND TOTAL | 0381 | | 0600 | | | 24.0 | 176.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

Name : LAKSHAY GOYAL
 Father's Name : RAJEEV GOYAL
 Mother's Name : NEELAM GOYAL
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 64 24 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 58 22 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 57 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 34 28 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 53 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 49 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0460 | | 0600 | | | 24.0 | 208.0 |
| | GRAND TOTAL | 0460 | | 0600 | | | 24.0 | 208.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.67

DATED : JAN 22,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000032
 Roll No. 255125893
 Regn. No. 25-DEO-893

Name : VIDHI
 Father's Name : SUNIL
 Mother's Name : GEETA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 57 21 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 56 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 58 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 18 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 56 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 45 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0446 | | 0600 | | | 24.0 | 204.0 |
| | GRAND TOTAL | 0446 | | 0600 | | | 24.0 | 204.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000033
 Roll No. 255125894
 Regn. No. 25-DEO-894

Name : SEERATH
 Father's Name : BABLU
 Mother's Name : SULEKHA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 61 20 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 61 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 58 22 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 35 22 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 58 21 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 40 18 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0445 | | 0600 | | | 24.0 | 204.0 |
| | GRAND TOTAL | 0445 | | 0600 | | | 24.0 | 204.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000034
 Roll No. 255125895
 Regn. No. 25-DEO-895

Name : SANTOSH DAS
 Father's Name : RAM CHANDRA DAS
 Mother's Name : LAKSHMI DAS
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 46 20 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 54 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 59 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 35 15 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 46 20 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 32 14 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| | TOTAL | 0389 | | 0600 | | | 24.0 | 180.0 |
| | GRAND TOTAL | 0389 | | 0600 | | | 24.0 | 180.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000035
 Roll No. 255125896
 Regn. No. 25-DEO-896

Name : SUMAN KUMARI
 Father's Name : ASHOK KUMAR
 Mother's Name : PRABHA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 58 20 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 62 24 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 59 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 34 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 53 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 44 29 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0456 | | 0600 | | | 24.0 | 208.0 |
| | GRAND TOTAL | 0456 | | 0600 | | | 24.0 | 208.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.67

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000036
 Roll No. 255125897
 Regn. No. 25-DEO-897

Name : HIMANSHU
 Father's Name : NARESH
 Mother's Name : SUMAN DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 56 12 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 60 17 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 60 16 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 38 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 52 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 43 19 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0422 | | 0600 | | | 24.0 | 196.0 |
| | GRAND TOTAL | 0422 | | 0600 | | | 24.0 | 196.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.17

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000037
 Roll No. 255125898
 Regn. No. 25-DEO-898

Name : MD AZHAR ABDUL HAI
 Father's Name : ASLAM KHAN
 Mother's Name : NOOR JAHAN
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 60 21 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 56 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 61 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 27 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 50 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 40 22 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0452 | | 0600 | | | 24.0 | 204.0 |
| | GRAND TOTAL | 0452 | | 0600 | | | 24.0 | 204.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : JAN 22,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000038
 Roll No. 255125899
 Regn. No. 25-DEO-899

Name : SAGAR DHINGRA
 Father's Name : DINESH
 Mother's Name : HARSH
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 55 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 59 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 61 20 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 38 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 52 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 40 21 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0449 | | 0600 | | | 24.0 | 204.0 |
| | GRAND TOTAL | 0449 | | 0600 | | | 24.0 | 204.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000039
 Roll No. 255125900
 Regn. No. 25-DEO-900

Name : DIKSHA
 Father's Name : SANJAY KUMAR
 Mother's Name : PINKI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 52 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 52 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 60 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 38 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 52 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 42 21 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0443 | | 0600 | | | 24.0 | 204.0 |
| | GRAND TOTAL | 0443 | | 0600 | | | 24.0 | 204.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000040
 Roll No. 255125901
 Regn. No. 25-DEO-901

Name : VARUN DHAKAD
 Father's Name : YOGESH DHAKAD
 Mother's Name : ASHA DHAKAD
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 52 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 54 28 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 55 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 34 25 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 50 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 45 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0435 | | 0600 | | | 24.0 | 196.0 |
| | GRAND TOTAL | 0435 | | 0600 | | | 24.0 | 196.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.17

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000041
 Roll No. 255125902
 Regn. No. 25-DEO-902

Name : RAHUL SINGH
 Father's Name : SUNIL SINGH
 Mother's Name : REETA SINGH
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 48 25 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 54 29 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 56 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 20 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 45 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 31 22 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| | TOTAL | 0417 | | 0600 | | | 24.0 | 188.0 |
| | GRAND TOTAL | 0417 | | 0600 | | | 24.0 | 188.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000042
 Roll No. 255125903
 Regn. No. 25-DEO-903

Name : SANIA
 Father's Name : NAND LAL
 Mother's Name : SAROJ
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 58 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 60 28 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 60 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 35 25 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 57 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 50 20 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0466 | | 0600 | | | 24.0 | 212.0 |
| | GRAND TOTAL | 0466 | | 0600 | | | 24.0 | 212.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000043
 Roll No. 255125905
 Regn. No. 25-DEO-905

Name : RITIK ANEJA
 Father's Name : RAKESH ANEJA
 Mother's Name : USHA ANEJA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 42 26 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 65 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 61 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 27 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 55 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 40 22 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0450 | | 0600 | | | 24.0 | 204.0 |
| | GRAND TOTAL | 0450 | | 0600 | | | 24.0 | 204.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000044
 Roll No. 255125906
 Regn. No. 25-DEO-906

Name : INSHA
 Father's Name : ABDUL ALI CHOLAYIL
 Mother's Name : RASIYA MATTUMMAL
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 65 25 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 57 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 58 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 38 25 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 56 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 46 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0470 | | 0600 | | | 24.0 | 216.0 |
| | GRAND TOTAL | 0470 | | 0600 | | | 24.0 | 216.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000045
 Roll No. 255125907
 Regn. No. 25-DEO-907

Name : TISHA
 Father's Name : SHUSHIL KUMAR
 Mother's Name : JAIWATI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 59 18 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 61 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 64 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 24 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 48 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 53 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| | TOTAL | 0462 | | 0600 | | | 24.0 | 212.0 |
| | GRAND TOTAL | 0462 | | 0600 | | | 24.0 | 212.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000046
 Roll No. 255125908
 Regn. No. 25-DEO-908

Name : POOJA
 Father's Name : JITENDER CHAWLA
 Mother's Name : NEELAM CHAWLA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 56 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 62 28 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 58 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 53 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 50 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0469 | | 0600 | | | 24.0 | 212.0 |
| | GRAND TOTAL | 0469 | | 0600 | | | 24.0 | 212.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000047
 Roll No. 255125909
 Regn. No. 25-DEO-909

Name : PUSHPENDER
 Father's Name : JITENDER
 Mother's Name : ANARKALI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 54 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 55 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 59 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 31 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 53 22 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 49 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0445 | | 0600 | | | 24.0 | 204.0 |
| | GRAND TOTAL | 0445 | | 0600 | | | 24.0 | 204.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000048
 Roll No. 255125910
 Regn. No. 25-DEO-910

Name : R N RENUKA
 Father's Name : N NARAYANA
 Mother's Name : RAVULA SUSHEELA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 56 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 42 22 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 51 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 22 22 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 53 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 38 17 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0390 | | 0600 | | | 24.0 | 176.0 |
| | GRAND TOTAL | 0390 | | 0600 | | | 24.0 | 176.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000049
 Roll No. 255125911
 Regn. No. 25-DEO-911

Name : BHUVAN CHANDER JOSHI
 Father's Name : DEVIDUTT JOSHI
 Mother's Name : SARASWATI JOSHI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 46 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 47 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 59 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 39 25 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 58 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 51 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| | TOTAL | 0440 | | 0600 | | | 24.0 | 200.0 |
| | GRAND TOTAL | 0440 | | 0600 | | | 24.0 | 200.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000050
 Roll No. 255125912
 Regn. No. 25-DEO-912

Name : POOJA SHARMA
 Father's Name : ISHWAR SHARMA
 Mother's Name : MUNNI SHARMA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 59 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 62 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 58 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 38 27 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 55 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 53 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| | TOTAL | 0480 | | 0600 | | | 24.0 | 220.0 |
| | GRAND TOTAL | 0480 | | 0600 | | | 24.0 | 220.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 9.17

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000051
 Roll No. 255125913
 Regn. No. 25-DEO-913

Name : PARVEEN KUMAR
 Father's Name : KUNWAR PAL
 Mother's Name : SUMAN LATA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 53 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 55 28 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 56 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 36 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 50 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 37 22 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0434 | | 0600 | | | 24.0 | 196.0 |
| | GRAND TOTAL | 0434 | | 0600 | | | 24.0 | 196.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.17

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000052
 Roll No. 255125914
 Regn. No. 25-DEO-914

Name : BRAJESWAR DEY
 Father's Name : HARAPRASAD DEY
 Mother's Name : SUKHIA DEY
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 40 17 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 33 16 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 34 15 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 23 18 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 47 16 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 27 14 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| | TOTAL | 0300 | | 0600 | | | 24.0 | 136.0 |
| | GRAND TOTAL | 0300 | | 0600 | | | 24.0 | 136.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 5.67

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000053
 Roll No. 255125915
 Regn. No. 25-DEO-915

Name : RAJIB KUNDU
 Father's Name : PRAVAKAR KUNDU
 Mother's Name : SHAFALI KUNDU
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 40 16 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 35 19 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 47 19 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 30 25 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 48 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 27 18 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| | TOTAL | 0346 | | 0600 | | | 24.0 | 164.0 |
| | GRAND TOTAL | 0346 | | 0600 | | | 24.0 | 164.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 6.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000054
 Roll No. 255125916
 Regn. No. 25-DEO-916

Name : ANIRUDH KHOKHAR
 Father's Name : VINOD KUMAR
 Mother's Name : VINESH
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 64 24 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 62 28 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 62 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 35 28 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 63 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 54 29 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| | TOTAL | 0501 | | 0600 | | | 24.0 | 224.0 |
| | GRAND TOTAL | 0501 | | 0600 | | | 24.0 | 224.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 9.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000055
 Roll No. 255125918
 Regn. No. 25-DEO-918

Name : ANURAG KUMAR
 Father's Name : VIRENDRA RAUT
 Mother's Name : GEETA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 11 5 F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 15 6 F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 13 6 F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 13 6 F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 11 5 F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 13 6 F | 40AG | 100 | F | 0 | 04.0 | 0 |
| | TOTAL | **** | | 0600 | | | 24.0 | 000.0 |
| | | | | | | | 24.0 | 0.0 |

RESULT : RE - TILL JUN- 2027 IN : FAIL

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000056
 Roll No. 255125919
 Regn. No. 25-DEO-919

Name : SAHIL YADAV
 Father's Name : ASHOK KUMAR
 Mother's Name : PUSHPA YADAV
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 56 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 58 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 58 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 36 27 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 52 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 41 20 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0446 | | 0600 | | | 24.0 | 200.0 |
| | GRAND TOTAL | 0446 | | 0600 | | | 24.0 | 200.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000057
 Roll No. 255125920
 Regn. No. 25-DEO-920

Name : PAYAL AHUJA
 Father's Name : GULSHAN KUMAR
 Mother's Name : ANITA RANI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 52 18 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 47 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 50 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 31 21 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 54 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 45 19 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0403 | | 0600 | | | 24.0 | 184.0 |
| | GRAND TOTAL | 0403 | | 0600 | | | 24.0 | 184.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.67

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000058
 Roll No. 255125921
 Regn. No. 25-DEO-921

Name : GEETARAM
 Father's Name : RAMESH
 Mother's Name : SAVITA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 36 20 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 38 27 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 37 23 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 30 23 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 43 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 31 21 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| | TOTAL | 0351 | | 0600 | | | 24.0 | 168.0 |
| | GRAND TOTAL | 0351 | | 0600 | | | 24.0 | 168.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000059
 Roll No. 255125922
 Regn. No. 25-DEO-922

Name : THAKUR DARSHAN ASHOK
 Father's Name : ASHOK
 Mother's Name : KIRAN
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 43 21 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 43 26 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 51 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 39 25 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 36 20 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0393 | | 0600 | | | 24.0 | 180.0 |
| | GRAND TOTAL | 0393 | | 0600 | | | 24.0 | 180.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000060
 Roll No. 255125923
 Regn. No. 25-DEO-923

Name : YASHIKA VERMA
 Father's Name : RAJ KUMAR VERMA
 Mother's Name : BHAWNA VERMA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 54 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 60 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 61 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 38 28 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 57 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 45 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0470 | | 0600 | | | 24.0 | 216.0 |
| | GRAND TOTAL | 0470 | | 0600 | | | 24.0 | 216.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000061
 Roll No. 255125924
 Regn. No. 25-DEO-924

Name : PRACHI DEVI
 Father's Name : KARESHAN
 Mother's Name : NEELAM
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 22 14 F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 26 15 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 44 19 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 27 16 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 45 20 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 25 15 * | 40AG | 100 | P | 4 | 04.0 | 16.0 |
| | TOTAL | *** | | 0600 | | | 24.0 | 116.0 |
| | | | | | | | 24.0 | 116.0 |

RESULT : RE - TILL JUN- 2027 IN : MBAD-101

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000062
 Roll No. 255125925
 Regn. No. 25-DEO-925

Name : PRATHAM GUPTA
 Father's Name : RAVI BABU GUPTA
 Mother's Name : SEEMA GUPTA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 64 23 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 62 28 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 56 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 34 28 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 56 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 46 26 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0477 | | 0600 | | | 24.0 | 212.0 |
| | GRAND TOTAL | 0477 | | 0600 | | | 24.0 | 212.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000063
 Roll No. 255125926
 Regn. No. 25-DEO-926

Name : GOURAV SHARMA
 Father's Name : SURESH KUMAR SHARMA
 Mother's Name : SUNITA SHARMA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 30 20 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 39 27 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 39 23 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 38 27 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 36 24 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 28 22 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| | TOTAL | 0353 | | 0600 | | | 24.0 | 168.0 |
| | GRAND TOTAL | 0353 | | 0600 | | | 24.0 | 168.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000064
 Roll No. 255125927
 Regn. No. 25-DEO-927

Name : KAPIL YADAV
 Father's Name : KRISHAN KUMAR
 Mother's Name : NISHA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 61 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 60 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 60 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 34 27 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 56 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 48 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0475 | | 0600 | | | 24.0 | 216.0 |
| | GRAND TOTAL | 0475 | | 0600 | | | 24.0 | 216.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000065
 Roll No. 255125928
 Regn. No. 25-DEO-928

Name : KRITIKA CHANDELA
 Father's Name : JITENDER CHANDELA
 Mother's Name : POONAM
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 40 20 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 46 25 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 48 20 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 29 11 * | 40AG | 100 | P | 4 | 04.0 | 16.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 53 11 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 37 16 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| | TOTAL | 0356 | | 0600 | | | 24.0 | 160.0 |
| | GRAND TOTAL | 0356 | | 0600 | | | 24.0 | 160.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 6.67

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000066
 Roll No. 255125929
 Regn. No. 25-DEO-929

Name : JASMINE
 Father's Name : PARDEEP KUMAR
 Mother's Name : PARVEEN
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 53 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 60 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 62 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 38 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 59 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 46 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0471 | | 0600 | | | 24.0 | 212.0 |
| | GRAND TOTAL | 0471 | | 0600 | | | 24.0 | 212.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000067
 Roll No. 255125930
 Regn. No. 25-DEO-930

Name : ARVIND KUMAR
 Father's Name : TIKENDRA SONI
 Mother's Name : MANJU SONI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 50 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 38 16 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 28 12 * | 40AG | 100 | P | 4 | 04.0 | 16.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 28 12 * | 40AG | 100 | P | 4 | 04.0 | 16.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 31 13 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 32 14 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| | TOTAL | 0295 | | 0600 | | | 24.0 | 128.0 |
| | GRAND TOTAL | 0295 | | 0600 | | | 24.0 | 128.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 5.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000068
 Roll No. 255125931
 Regn. No. 25-DEO-931

Name : PRINCE KUMAR SINGH
 Father's Name : DINESH KUMAR SINGH
 Mother's Name : KIRAN SINGH
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 57 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 59 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 57 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 35 19 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 55 3 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 42 21 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0426 | | 0600 | | | 24.0 | 192.0 |
| | GRAND TOTAL | 0426 | | 0600 | | | 24.0 | 192.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000069
 Roll No. 255125932
 Regn. No. 25-DEO-932

Name : PANKAJ SHARMA
 Father's Name : SUSHIL KUMAR
 Mother's Name : REENA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 63 23 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 56 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 59 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 34 24 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 56 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 51 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0462 | | 0600 | | | 24.0 | 212.0 |
| | GRAND TOTAL | 0462 | | 0600 | | | 24.0 | 212.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000070
 Roll No. 255125933
 Regn. No. 25-DEO-933

Name : NISHU
 Father's Name : SURESH KUMAR
 Mother's Name : TARAWATI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 58 19 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 57 21 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 58 21 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 35 22 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 58 22 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 42 18 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0431 | | 0600 | | | 24.0 | 200.0 |
| | GRAND TOTAL | 0431 | | 0600 | | | 24.0 | 200.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000071
 Roll No. 255125934
 Regn. No. 25-DEO-934

Name : SURAJ SHARMA
 Father's Name : DAYANAND SHARMA
 Mother's Name : MANJU SHARMA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 54 18 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 37 16 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 36 15 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 28 12 | 40AG | 100 | P | 4 | 04.0 | 16.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 54 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 37 16 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| | TOTAL | 0346 | | 0600 | | | 24.0 | 156.0 |
| | GRAND TOTAL | 0346 | | 0600 | | | 24.0 | 156.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 6.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000072
 Roll No. 255125936
 Regn. No. 25-DEO-936

Name : KOMAL
 Father's Name : ASHOK KUMAR
 Mother's Name : NEERAJ DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 56 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 56 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 60 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 35 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 58 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 45 26 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0462 | | 0600 | | | 24.0 | 208.0 |
| | GRAND TOTAL | 0462 | | 0600 | | | 24.0 | 208.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.67

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000073
 Roll No. 255125937
 Regn. No. 25-DEO-937

Name : AMIT KUMAR
 Father's Name : JAIBIR SINGH
 Mother's Name : MANJU DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 56 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 51 28 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 58 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 50 24 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 39 23 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0444 | | 0600 | | | 24.0 | 200.0 |
| | GRAND TOTAL | 0444 | | 0600 | | | 24.0 | 200.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000074
 Roll No. 255125938
 Regn. No. 25-DEO-938

Name : MEENAKSHI
 Father's Name : SAJJAN KUMAR
 Mother's Name : SAROJ BALA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 36 22 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 56 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 58 21 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 35 19 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 55 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 40 19 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0408 | | 0600 | | | 24.0 | 188.0 |
| | GRAND TOTAL | 0408 | | 0600 | | | 24.0 | 188.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000075
 Roll No. 255125940
 Regn. No. 25-DEO-940

Name : AAYUSH SHARMA
 Father's Name : RAMDHAN SHARMA
 Mother's Name : KUSUM SHARMA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 58 21 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 58 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 54 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 34 25 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 53 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 40 20 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0436 | | 0600 | | | 24.0 | 200.0 |
| | GRAND TOTAL | 0436 | | 0600 | | | 24.0 | 200.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000076
 Roll No. 255125941
 Regn. No. 25-DEO-941

Name : PRAVEEN KUMAR
 Father's Name : ISHWAR SINGH
 Mother's Name : SANTOSH DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 49 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 46 20 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 46 19 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 33 21 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 47 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 41 24 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0390 | | 0600 | | | 24.0 | 184.0 |
| | GRAND TOTAL | 0390 | | 0600 | | | 24.0 | 184.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.67

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000077
 Roll No. 255125942
 Regn. No. 25-DEO-942

Name : HARSH GOEL
 Father's Name : PARVEEN KUMAR
 Mother's Name : NEETU
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 63 25 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 62 28 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 61 21 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 33 18 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 51 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 48 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0453 | | 0600 | | | 24.0 | 204.0 |
| | GRAND TOTAL | 0453 | | 0600 | | | 24.0 | 204.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000078
 Roll No. 255125944
 Regn. No. 25-DEO-944

Name : BHARTI GARG
 Father's Name : SOMESH GARG
 Mother's Name : MADHU
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 63 22 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 61 28 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 59 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 35 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 55 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 60 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| | TOTAL | 0484 | | 0600 | | | 24.0 | 220.0 |
| | GRAND TOTAL | 0484 | | 0600 | | | 24.0 | 220.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 9.17

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000079
 Roll No. 255125945
 Regn. No. 25-DEO-945

Name : PAWAN KUMAR
 Father's Name : HARI PARKASH
 Mother's Name : BIMLA SHARMA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 56 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 58 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 56 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 41 26 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 56 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 46 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0465 | | 0600 | | | 24.0 | 208.0 |
| | GRAND TOTAL | 0465 | | 0600 | | | 24.0 | 208.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.67

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000080
 Roll No. 255125946
 Regn. No. 25-DEO-946

Name : SHARMA ALISHA BHAIYARAM
 Father's Name : BHAIYARAM
 Mother's Name : SAROJ
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 53 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 51 29 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 55 28 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 35 27 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 50 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 45 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0443 | | 0600 | | | 24.0 | 204.0 |
| | GRAND TOTAL | 0443 | | 0600 | | | 24.0 | 204.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000081
 Roll No. 255125947
 Regn. No. 25-DEO-947

Name : BINTOO BINTOO
 Father's Name : GURMEET SINGH
 Mother's Name : RAJWANTI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 59 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 60 28 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 53 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 38 27 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 53 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 41 21 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0456 | | 0600 | | | 24.0 | 212.0 |
| | GRAND TOTAL | 0456 | | 0600 | | | 24.0 | 212.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000082
 Roll No. 255125948
 Regn. No. 25-DEO-948

Name : KULDEEP CHAND
 Father's Name : DHARAM CHAND
 Mother's Name : KRISHNA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 54 22 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 58 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 55 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 39 25 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 52 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 44 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0446 | | 0600 | | | 24.0 | 200.0 |
| | GRAND TOTAL | 0446 | | 0600 | | | 24.0 | 200.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000083
 Roll No. 255125949
 Regn. No. 25-DEO-949

Name : SHIVAM
 Father's Name : PUNEET KUMAR
 Mother's Name : JYOTI BALA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 61 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 59 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 61 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 27 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 54 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 50 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0469 | | 0600 | | | 24.0 | 208.0 |
| | GRAND TOTAL | 0469 | | 0600 | | | 24.0 | 208.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.67

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000084
 Roll No. 255125950
 Regn. No. 25-DEO-950

Name : CHANDNI TUTEJA
 Father's Name : VARIENDER TUTEJA
 Mother's Name : DEEPTI TUTEJA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 60 25 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 57 28 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 61 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 35 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 57 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 49 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0471 | | 0600 | | | 24.0 | 216.0 |
| | GRAND TOTAL | 0471 | | 0600 | | | 24.0 | 216.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000085
 Roll No. 255125951
 Regn. No. 25-DEO-951

Name : PARDEEP BIDHAN
 Father's Name : NASEEB
 Mother's Name : KRISHANA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 54 20 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 47 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 54 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 33 25 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 52 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 31 21 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| | TOTAL | 0409 | | 0600 | | | 24.0 | 188.0 |
| | GRAND TOTAL | 0409 | | 0600 | | | 24.0 | 188.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000086
 Roll No. 255125952
 Regn. No. 25-DEO-952

Name : SANJIT
 Father's Name : SATYAWAN
 Mother's Name : ROSHNI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 60 22 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 55 28 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 54 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 38 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 56 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 36 20 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0446 | | 0600 | | | 24.0 | 200.0 |
| | GRAND TOTAL | 0446 | | 0600 | | | 24.0 | 200.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000087
 Roll No. 255125953
 Regn. No. 25-DEO-953

Name : REKHA
 Father's Name : RAM KUMAR
 Mother's Name : RAKSHA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 60 21 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 55 22 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 56 22 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 31 24 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 54 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 39 24 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0431 | | 0600 | | | 24.0 | 200.0 |
| | GRAND TOTAL | 0431 | | 0600 | | | 24.0 | 200.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000088
 Roll No. 255125955
 Regn. No. 25-DEO-955

Name : YOGESH KUMAR
 Father's Name : PAWAN KUMAR
 Mother's Name : LUXMI RANI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 47 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 51 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 54 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 34 27 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 54 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 44 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0430 | | 0600 | | | 24.0 | 200.0 |
| | GRAND TOTAL | 0430 | | 0600 | | | 24.0 | 200.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000089
 Roll No. 255125956
 Regn. No. 25-DEO-956

Name : YOGESH KUMAR
 Father's Name : NARESH KUMAR
 Mother's Name : ANITA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 59 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 62 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 60 28 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 28 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 59 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 58 21 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| | TOTAL | 0491 | | 0600 | | | 24.0 | 224.0 |
| | GRAND TOTAL | 0491 | | 0600 | | | 24.0 | 224.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 9.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000090
 Roll No. 255125957
 Regn. No. 25-DEO-957

Name : NIDHI SAINI
 Father's Name : BALWINDER
 Mother's Name : AMITA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 54 19 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 52 15 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 54 17 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 36 20 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 56 22 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 45 20 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0410 | | 0600 | | | 24.0 | 192.0 |
| | GRAND TOTAL | 0410 | | 0600 | | | 24.0 | 192.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000091
 Roll No. 255125958
 Regn. No. 25-DEO-958

Name : JYOTI BHARGAV
 Father's Name : RAJENDRA BHARGAV
 Mother's Name : SUDHA SHARMA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 57 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 63 22 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 61 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 58 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 45 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0465 | | 0600 | | | 24.0 | 212.0 |
| | GRAND TOTAL | 0465 | | 0600 | | | 24.0 | 212.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000092
 Roll No. 255125959
 Regn. No. 25-DEO-959

Name : ABHISHEK RANA
 Father's Name : SUSHIL KUMAR
 Mother's Name : REKHA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 42 13 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 34 15 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 42 18 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 33 14 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 36 15 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 30 13 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| | TOTAL | 0305 | | 0600 | | | 24.0 | 140.0 |
| | GRAND TOTAL | 0305 | | 0600 | | | 24.0 | 140.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 5.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000093
 Roll No. 255125960
 Regn. No. 25-DEO-960

Name : VINEET
 Father's Name : GHANSHYAM
 Mother's Name : MENKA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 63 23 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 60 28 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 59 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 55 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 50 24 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0475 | | 0600 | | | 24.0 | 216.0 |
| | GRAND TOTAL | 0475 | | 0600 | | | 24.0 | 216.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED : JAN 22,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000094
 Roll No. 255125961
 Regn. No. 25-DEO-961

Name : PRASHANT SINGH KHATI
 Father's Name : KAILASH SINGH KHATI
 Mother's Name : PRATIBHA KHATI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 49 20 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 54 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 52 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 22 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 46 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 36 21 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0405 | | 0600 | | | 24.0 | 188.0 |
| | GRAND TOTAL | 0405 | | 0600 | | | 24.0 | 188.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000095
 Roll No. 255125962
 Regn. No. 25-DEO-962

Name : NARENDER KUMAR
 Father's Name : OM PARKASH
 Mother's Name : SANTOSH
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 62 24 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 60 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 54 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 27 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 60 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 41 22 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0467 | | 0600 | | | 24.0 | 208.0 |
| | GRAND TOTAL | 0467 | | 0600 | | | 24.0 | 208.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.67

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000096
 Roll No. 255125963
 Regn. No. 25-DEO-963

Name : DIKSHA
 Father's Name : PARDEEP KUMAR
 Mother's Name : URMILA RANI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 54 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 59 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 58 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 34 27 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 55 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 44 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0455 | | 0600 | | | 24.0 | 208.0 |
| | GRAND TOTAL | 0455 | | 0600 | | | 24.0 | 208.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.67

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000097
 Roll No. 255125964
 Regn. No. 25-DEO-964

Name : SANJANA DEVI
 Father's Name : MULKRAJ
 Mother's Name : PINKI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | AB 25 F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 49 24 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | AB 23 F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 23 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 52 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | AB 9 F | 40AG | 100 | F | 0 | 04.0 | 0 |
| | TOTAL | *** | | 0600 | | | 24.0 | 096.0 |
| | | | | | | | 24.0 | 96.0 |

RESULT : RE - TILL JUN- 2027 IN : MBAD-101 MBAD-103 MBAD-106

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000098
 Roll No. 255125965
 Regn. No. 25-DEO-965

Name : VANDANA
 Father's Name : DALPAT SINGH NEGI
 Mother's Name : JAMUNA NEGI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 56 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 50 24 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 54 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 40 26 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 54 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 44 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0440 | | 0600 | | | 24.0 | 204.0 |
| | GRAND TOTAL | 0440 | | 0600 | | | 24.0 | 204.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000099
 Roll No. 255125966
 Regn. No. 25-DEO-966

Name : PARSHANT
 Father's Name : SWARN
 Mother's Name : BABITA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 55 22 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 51 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 58 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 42 24 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 52 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 40 23 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0443 | | 0600 | | | 24.0 | 204.0 |
| | GRAND TOTAL | 0443 | | 0600 | | | 24.0 | 204.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000100
 Roll No. 255125967
 Regn. No. 25-DEO-967

Name : KINKAR ANKIT VINAYAK
 Father's Name : VINAYAK
 Mother's Name : PUSHPA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 58 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 60 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 54 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 36 15 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 58 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 49 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0450 | | 0600 | | | 24.0 | 204.0 |
| | GRAND TOTAL | 0450 | | 0600 | | | 24.0 | 204.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000101
 Roll No. 255125968
 Regn. No. 25-DEO-968

Name : TANIYA KARANWAL
 Father's Name : VIJAY KARANWAL
 Mother's Name : SUSHMA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 45 17 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 31 21 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 38 23 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 24 22 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 32 20 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 24 16 * | 40AG | 100 | P | 4 | 04.0 | 16.0 |
| | TOTAL | 0313 | | 0600 | | | 24.0 | 140.0 |
| | GRAND TOTAL | 0313 | | 0600 | | | 24.0 | 140.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 5.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000102
 Roll No. 255125969
 Regn. No. 25-DEO-969

Name : KAUSHAL GARTAN
 Father's Name : MAHABIR SINGH
 Mother's Name : SUDESH DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 54 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 56 28 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 54 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 24 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 57 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 39 22 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0446 | | 0600 | | | 24.0 | 200.0 |
| | GRAND TOTAL | 0446 | | 0600 | | | 24.0 | 200.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000103
 Roll No. 255125970
 Regn. No. 25-DEO-970

Name : RUCHIKA JOSHI
 Father's Name : KAILASH CHANDRA JOSHI
 Mother's Name : CHANCHALA JOSHI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 60 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 51 29 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 57 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 38 27 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 51 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 46 27 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0460 | | 0600 | | | 24.0 | 208.0 |
| | GRAND TOTAL | 0460 | | 0600 | | | 24.0 | 208.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.67

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000104
 Roll No. 255125971
 Regn. No. 25-DEO-971

Name : ANKUR
 Father's Name : KARAN SINGH
 Mother's Name : SUMAN
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 53 19 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 43 19 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 46 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 27 20 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 47 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 35 19 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| | TOTAL | 0370 | | 0600 | | | 24.0 | 168.0 |
| | GRAND TOTAL | 0370 | | 0600 | | | 24.0 | 168.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMIN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000105
 Roll No. 255125972
 Regn. No. 25-DEO-972

Name : RAJU KUMAR THAKUR
 Father's Name : DAMODAR THAKUR
 Mother's Name : SUNITA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 49 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 40 17 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 45 19 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 33 14 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 44 19 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | AB AB F | 40AG | 100 | F | 0 | 04.0 | 0 |
| | TOTAL | *** | | 0600 | | | 24.0 | 136.0 |
| | | | | | | | 20.0 | 136.0 |

RESULT : RE - TILL JUN- 2027 IN : MBAD-106

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000106
 Roll No. 255125973
 Regn. No. 25-DEO-973

Name : RAJESH KUMAR
 Father's Name : KASHMIR SINGH
 Mother's Name : NIRMALA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 38 20 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 31 15 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 39 22 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 32 21 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 39 23 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 36 17 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| | TOTAL | 0333 | | 0600 | | | 24.0 | 152.0 |
| | GRAND TOTAL | 0333 | | 0600 | | | 24.0 | 152.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 6.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000107
 Roll No. 255125975
 Regn. No. 25-DEO-975

Name : KALYANJEE A KUMAR REDDY
 Father's Name : SIVUDU NAIDU
 Mother's Name : SATYAVATHI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 46 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 55 28 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 58 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 36 28 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 60 25 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 51 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0456 | | 0600 | | | 24.0 | 204.0 |
| | GRAND TOTAL | 0456 | | 0600 | | | 24.0 | 204.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMIN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000108
 Roll No. 255125976
 Regn. No. 25-DEO-976

Name : SUMIT
 Father's Name : RAM KUMAR
 Mother's Name : SHEELA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 37 22 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 31 24 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 33 22 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | AB 8 F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | AB 24 F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 29 17 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| | TOTAL | *** | | 0600 | | | 24.0 | 104.0 |
| | | | | | | | 24.0 | 104.0 |

RESULT : RE - TILL JUN- 2027 IN : MBAD-104 MBAD-105

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000109
 Roll No. 255125977
 Regn. No. 25-DEO-977

Name : RAMDIA
 Father's Name : JEET SINGH
 Mother's Name : NILAM
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 64 22 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 61 25 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 58 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 30 27 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 58 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 48 20 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0463 | | 0600 | | | 24.0 | 212.0 |
| | GRAND TOTAL | 0463 | | 0600 | | | 24.0 | 212.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000110
 Roll No. 255125978
 Regn. No. 25-DEO-978

Name : SHEAK JAVEED
 Father's Name : SHEAK HASIMUDDIN
 Mother's Name : MAZIDA BIDI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 42 22 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 62 24 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 54 22 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 39 25 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 51 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 57 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| | TOTAL | 0448 | | 0600 | | | 24.0 | 200.0 |
| | GRAND TOTAL | 0448 | | 0600 | | | 24.0 | 200.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000111
 Roll No. 255125979
 Regn. No. 25-DEO-979

Name : AAKASH
 Father's Name : DEEPAK KUMAR
 Mother's Name : HEMA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 47 24 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 56 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 61 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 34 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 56 21 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 51 20 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0451 | | 0600 | | | 24.0 | 208.0 |
| | GRAND TOTAL | 0451 | | 0600 | | | 24.0 | 208.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.67

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000112
 Roll No. 255125981
 Regn. No. 25-DEO-981

Name : RAVINDER
 Father's Name : KARAMBIR SAINI
 Mother's Name : SHAKUNTLA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 54 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 57 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 57 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 36 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 55 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 45 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0452 | | 0600 | | | 24.0 | 204.0 |
| | GRAND TOTAL | 0452 | | 0600 | | | 24.0 | 204.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000113
 Roll No. 255125983
 Regn. No. 25-DEO-983

Name : ANJALI
 Father's Name : SUNIL
 Mother's Name : REKHA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 62 24 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 57 28 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 59 14 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 28 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 54 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 49 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0456 | | 0600 | | | 24.0 | 212.0 |
| | GRAND TOTAL | 0456 | | 0600 | | | 24.0 | 212.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000114
 Roll No. 255125985
 Regn. No. 25-DEO-985

Name : PRAYASI MAJUMDER
 Father's Name : PUSPEN MAJUMDER
 Mother's Name : CHANDANA MAJUMDER
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 56 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 56 28 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 58 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 36 28 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 57 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 44 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0459 | | 0600 | | | 24.0 | 208.0 |
| | GRAND TOTAL | 0459 | | 0600 | | | 24.0 | 208.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.67

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000115
 Roll No. 255125986
 Regn. No. 25-DEO-986

Name : DEEPAK
 Father's Name : JOGENDER
 Mother's Name : MUNNI DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 59 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 50 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 50 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 36 24 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 52 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 34 23 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0427 | | 0600 | | | 24.0 | 200.0 |
| | GRAND TOTAL | 0427 | | 0600 | | | 24.0 | 200.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000116
 Roll No. 255125987
 Regn. No. 25-DEO-987

Name : AKANKSHA RAWAT
 Father's Name : DARSHAN SINGH RAWAT
 Mother's Name : VIJAYANTI RAWAT
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 50 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 58 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 60 22 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 36 27 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 60 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 44 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0452 | | 0600 | | | 24.0 | 200.0 |
| | GRAND TOTAL | 0452 | | 0600 | | | 24.0 | 200.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000117
 Roll No. 255125989
 Regn. No. 25-DEO-989

Name : AYUSH KUMAR KASHYAP
 Father's Name : RAKESH KUMAR THAKUR
 Mother's Name : SADHANA THAKUR
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 51 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 60 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 53 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 35 24 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 55 22 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 47 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0447 | | 0600 | | | 24.0 | 208.0 |
| | GRAND TOTAL | 0447 | | 0600 | | | 24.0 | 208.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.67

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000118
 Roll No. 255125990
 Regn. No. 25-DEO-990

Name : PREMLATA
 Father's Name : MADAN MOHAN
 Mother's Name : ASHA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 60 21 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 53 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 55 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 23 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 54 22 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 58 22 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| | TOTAL | 0452 | | 0600 | | | 24.0 | 208.0 |
| | GRAND TOTAL | 0452 | | 0600 | | | 24.0 | 208.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.67

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000119
 Roll No. 255125992
 Regn. No. 25-DEO-992

Name : SURENDER KUMAR
 Father's Name : RAM DHARI
 Mother's Name : TARA WANTI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 43 17 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 55 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 60 17 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 33 23 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 51 15 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 42 13 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0392 | | 0600 | | | 24.0 | 188.0 |
| | GRAND TOTAL | 0392 | | 0600 | | | 24.0 | 188.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000120
 Roll No. 255125993
 Regn. No. 25-DEO-993

Name : KHUSHBU
 Father's Name : PAWAN KUMAR
 Mother's Name : SAROJ DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 54 21 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 56 28 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 57 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 38 24 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 60 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 38 20 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0443 | | 0600 | | | 24.0 | 200.0 |
| | GRAND TOTAL | 0443 | | 0600 | | | 24.0 | 200.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000121
 Roll No. 255125994
 Regn. No. 25-DEO-994

Name : AJEET KUMAR
 Father's Name : SHANKAR PRASAD SINGH
 Mother's Name : SUSHILA SINGH
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 49 19 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 39 23 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 42 21 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 27 23 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 43 20 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 38 17 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0361 | | 0600 | | | 24.0 | 168.0 |
| | GRAND TOTAL | 0361 | | 0600 | | | 24.0 | 168.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000122
 Roll No. 255125995
 Regn. No. 25-DEO-995

Name : KIRTI S
 Father's Name : LALIT SEHGAL
 Mother's Name : AARTI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 50 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 58 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 58 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 56 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 46 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0459 | | 0600 | | | 24.0 | 212.0 |
| | GRAND TOTAL | 0459 | | 0600 | | | 24.0 | 212.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000123
 Roll No. 255125996
 Regn. No. 25-DEO-996

Name : SRISHTI DUTTA
 Father's Name : VIVEK DUTTA
 Mother's Name : MANJU DUTTA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 51 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 40 29 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 53 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 32 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 45 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 34 22 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0406 | | 0600 | | | 24.0 | 192.0 |
| | GRAND TOTAL | 0406 | | 0600 | | | 24.0 | 192.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.00

DATED : JAN 22,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000124
 Roll No. 255125997
 Regn. No. 25-DEO-997

Name : TARUN PRATAP SINGH
 Father's Name : RAJESH SINGH
 Mother's Name : USHA SINGH
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 55 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 52 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 55 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 34 25 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 52 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 39 21 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0433 | | 0600 | | | 24.0 | 200.0 |
| | GRAND TOTAL | 0433 | | 0600 | | | 24.0 | 200.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000125
 Roll No. 255126000
 Regn. No. 25-DEO-1000

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

Name : TARUN KARAKOTI
 Father's Name : LALIT MOHAN SINGH KARAKOTI
 Mother's Name : MOHANI DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 52 14 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 58 22 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 53 18 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 38 22 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 56 17 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 35 14 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| | TOTAL | 0399 | | 0600 | | | 24.0 | 180.0 |
| | GRAND TOTAL | 0399 | | 0600 | | | 24.0 | 180.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000126
 Roll No. 255126001
 Regn. No. 25-DEO-1001

Name : NARESH KUMAR
 Father's Name : RAJA RAM
 Mother's Name : SARBATI DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 49 17 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 58 20 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 59 22 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 34 18 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 49 19 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 41 19 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0405 | | 0600 | | | 24.0 | 188.0 |
| | GRAND TOTAL | 0405 | | 0600 | | | 24.0 | 188.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000127
 Roll No. 255126002
 Regn. No. 25-DEO-1002

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

Name : RAJNI R
 Father's Name : JAY PAL
 Mother's Name : SHEELA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | | | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|----|---|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 23 | 10 | F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 29 | 11 | * | 40AG | 100 | P | 4 | 04.0 | 16.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 20 | 9 | F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 22 | 9 | F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 23 | 10 | F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 20 | 9 | F | 40AG | 100 | F | 0 | 04.0 | 0 |
| | TOTAL | *** | | | | 0600 | | | 24.0 | 016.0 |
| | | | | | | | | | 24.0 | 16.0 |

RESULT : RE - TILL JUN- 2027 IN : MBAD-101 MBAD-103 MBAD-104 MBAD-105 MBAD-106

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000128
 Roll No. 255126003
 Regn. No. 25-DEO-1003

Name : MUSKAN
 Father's Name : SATBIR SINGH
 Mother's Name : SUNITA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 60 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 58 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 57 28 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 39 28 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 57 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 49 29 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| | TOTAL | 0485 | | 0600 | | | 24.0 | 224.0 |
| | GRAND TOTAL | 0485 | | 0600 | | | 24.0 | 224.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 9.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000129
 Roll No. 255126004
 Regn. No. 25-DEO-1004

Name : ROHIT JANGRA
 Father's Name : RAM KISHAN JANGRA
 Mother's Name : ANITA JANGRA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 58 17 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 56 15 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 56 21 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 32 18 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 54 19 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 42 7 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| | TOTAL | 0395 | | 0600 | | | 24.0 | 180.0 |
| | GRAND TOTAL | 0395 | | 0600 | | | 24.0 | 180.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000130
 Roll No. 255126005
 Regn. No. 25-DEO-1005

Name : JYOTI
 Father's Name : MANOJ
 Mother's Name : PRAMILA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 45 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 48 28 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 52 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 35 23 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 52 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 40 20 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0414 | | 0600 | | | 24.0 | 196.0 |
| | GRAND TOTAL | 0414 | | 0600 | | | 24.0 | 196.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.17

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000131
 Roll No. 255126006
 Regn. No. 25-DEO-1006

Name : SHARDUL VIKRAM
 Father's Name : HARI SHANKER TIWARI
 Mother's Name : UMA KUMARI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 28 23 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 24 28 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 30 24 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 25 29 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 45 26 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 31 28 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0341 | | 0600 | | | 24.0 | 156.0 |
| | GRAND TOTAL | 0341 | | 0600 | | | 24.0 | 156.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 6.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000132
 Roll No. 255126007
 Regn. No. 25-DEO-1007

Name : SHIVOM SHARMA
 Father's Name : YASHPAL SHARMA
 Mother's Name : POOJA SHARMA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 53 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 51 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 50 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 35 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 54 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 38 23 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0426 | | 0600 | | | 24.0 | 196.0 |
| | GRAND TOTAL | 0426 | | 0600 | | | 24.0 | 196.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.17

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000133
 Roll No. 255126008
 Regn. No. 25-DEO-1008

Name : GURCHARAN SINGH
 Father's Name : AJIT SINGH
 Mother's Name : NARIENDRA KAUR
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 53 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 51 14 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 56 13 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 13 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 53 13 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 38 11 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| | TOTAL | 0376 | | 0600 | | | 24.0 | 176.0 |
| | GRAND TOTAL | 0376 | | 0600 | | | 24.0 | 176.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000134
 Roll No. 255126009
 Regn. No. 25-DEO-1009

Name : OSHIMA
 Father's Name : PAWAN
 Mother's Name : ANSHU
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 57 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 57 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 57 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 39 26 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 54 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 44 24 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0461 | | 0600 | | | 24.0 | 212.0 |
| | GRAND TOTAL | 0461 | | 0600 | | | 24.0 | 212.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000135
 Roll No. 255126010
 Regn. No. 25-DEO-1010

Name : PALWINDER KAUR
 Father's Name : ROUNAK SINGH
 Mother's Name : MANJIT KAUR
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 29 20 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 28 25 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 36 24 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 34 24 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 41 22 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 36 21 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0340 | | 0600 | | | 24.0 | 156.0 |
| | GRAND TOTAL | 0340 | | 0600 | | | 24.0 | 156.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 6.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000136
 Roll No. 255126011
 Regn. No. 25-DEO-1011

Name : MANJU
 Father's Name : RAM BHAGAT
 Mother's Name : MADHU BALA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 62 24 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 57 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 57 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 39 27 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 55 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 46 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0469 | | 0600 | | | 24.0 | 216.0 |
| | GRAND TOTAL | 0469 | | 0600 | | | 24.0 | 216.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000137
 Roll No. 255126012
 Regn. No. 25-DEO-1012

Name : ASHISH CHANDER SHARMA
 Father's Name : PRITHI CHAND SHARMA
 Mother's Name : SNEH LATA SHARMA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 60 25 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 56 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 58 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 38 28 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 57 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 52 29 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| | TOTAL | 0485 | | 0600 | | | 24.0 | 224.0 |
| | GRAND TOTAL | 0485 | | 0600 | | | 24.0 | 224.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 9.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000138
 Roll No. 255126013
 Regn. No. 25-DEO-1013

Name : PRIYANKA
 Father's Name : PREET MAHENDER
 Mother's Name : SANTOSH
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 38 19 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 36 28 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 46 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 23 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 53 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 36 27 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0390 | | 0600 | | | 24.0 | 180.0 |
| | GRAND TOTAL | 0390 | | 0600 | | | 24.0 | 180.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000139
 Roll No. 255126014
 Regn. No. 25-DEO-1014

Name : CHAYAN
 Father's Name : SHAMMI BAJAJ
 Mother's Name : NEETU
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 62 24 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 57 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 58 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 27 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 53 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 46 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0460 | | 0600 | | | 24.0 | 208.0 |
| | GRAND TOTAL | 0460 | | 0600 | | | 24.0 | 208.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.67

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000140
 Roll No. 255126015
 Regn. No. 25-DEO-1015

Name : VIJAYALAKSHMI RAMIREDDI
 Father's Name : RAMIREDDI SATYANARAYANA
 Mother's Name : RAMIREDDI RAMADEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 53 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 52 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 58 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 39 26 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 50 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 40 19 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0435 | | 0600 | | | 24.0 | 204.0 |
| | GRAND TOTAL | 0435 | | 0600 | | | 24.0 | 204.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000141
 Roll No. 255126016
 Regn. No. 25-DEO-1016

Name : JEROME MARSHAL PIYUSH
 Father's Name : PIYUSH
 Mother's Name : MARY
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 58 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 61 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 58 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 36 27 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 61 25 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 42 27 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0475 | | 0600 | | | 24.0 | 216.0 |
| | GRAND TOTAL | 0475 | | 0600 | | | 24.0 | 216.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000142
 Roll No. 255126017
 Regn. No. 25-DEO-1017

Name : KAJAL SHARMA
 Father's Name : RAJESH SHARMA
 Mother's Name : ANURADHA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 62 23 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 57 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 55 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 40 28 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 57 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 52 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| | TOTAL | 0479 | | 0600 | | | 24.0 | 220.0 |
| | GRAND TOTAL | 0479 | | 0600 | | | 24.0 | 220.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 9.17

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000143
 Roll No. 255126018
 Regn. No. 25-DEO-1018

Name : SURJYAMANI JENA
 Father's Name : NARAYANA JENA
 Mother's Name : TOFANI JENA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 53 20 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 56 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 57 22 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 36 24 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 49 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 40 28 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0435 | | 0600 | | | 24.0 | 200.0 |
| | GRAND TOTAL | 0435 | | 0600 | | | 24.0 | 200.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000144
 Roll No. 255126019
 Regn. No. 25-DEO-1019

Name : VINEET
 Father's Name : KAPTAN SINGH
 Mother's Name : RAJBALA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 58 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 60 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 60 25 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 51 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 42 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0456 | | 0600 | | | 24.0 | 212.0 |
| | GRAND TOTAL | 0456 | | 0600 | | | 24.0 | 212.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000145
 Roll No. 255126020
 Regn. No. 25-DEO-1020

Name : VISHAL AHLAWAT
 Father's Name : ANIL KUMAR AHLAWAT
 Mother's Name : SOMVATI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 50 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 56 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 56 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 16 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 50 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 39 17 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0411 | | 0600 | | | 24.0 | 188.0 |
| | GRAND TOTAL | 0411 | | 0600 | | | 24.0 | 188.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000146
 Roll No. 255126022
 Regn. No. 25-DEO-1022

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

Name : RITIK YADAV
 Father's Name : RAVINDRA YADAV
 Mother's Name : RAMBHA YADAV
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 60 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | AB 29 F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 55 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 36 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 53 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 51 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | *** | | 0600 | | | 24.0 | 168.0 |
| | | | | | | | 24.0 | 168.0 |

RESULT : RE - TILL JUN- 2027 IN : MBAD-102

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000147
 Roll No. 255126023
 Regn. No. 25-DEO-1023

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

Name : DUSHYANT NARWAL
 Father's Name : RAJESH KUMAR
 Mother's Name : BABITA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 47 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 42 29 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 51 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 35 12 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 41 18 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 28 22 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| | TOTAL | 0374 | | 0600 | | | 24.0 | 172.0 |
| | GRAND TOTAL | 0374 | | 0600 | | | 24.0 | 172.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.17

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000148
 Roll No. 255126024
 Regn. No. 25-DEO-1024

Name : ROHIT
 Father's Name : DILBAG
 Mother's Name : KRISHNA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 61 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 58 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 59 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 35 25 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 50 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 41 19 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0441 | | 0600 | | | 24.0 | 196.0 |
| | GRAND TOTAL | 0441 | | 0600 | | | 24.0 | 196.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.17

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000149
 Roll No. 255126025
 Regn. No. 25-DEO-1025

Name : NISHANT GUPTA
 Father's Name : MAHENDER GUPTA
 Mother's Name : PUSHPA GUPTA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 63 25 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 60 28 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 60 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 36 28 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 60 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 48 24 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0481 | | 0600 | | | 24.0 | 216.0 |
| | GRAND TOTAL | 0481 | | 0600 | | | 24.0 | 216.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000150
 Roll No. 255126026
 Regn. No. 25-DEO-1026

Name : SUSHEEL RANI
 Father's Name : RAMNIWAS
 Mother's Name : MUKESH DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 56 20 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 60 28 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 56 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 33 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 55 20 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 43 21 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0444 | | 0600 | | | 24.0 | 204.0 |
| | GRAND TOTAL | 0444 | | 0600 | | | 24.0 | 204.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000151
 Roll No. 255126027
 Regn. No. 25-DEO-1027

Name : AMIT SAINI
 Father's Name : NARESH KUMAR
 Mother's Name : SUDESH KUMARI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 46 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 48 28 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 53 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 35 28 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 47 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 33 21 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| | TOTAL | 0411 | | 0600 | | | 24.0 | 188.0 |
| | GRAND TOTAL | 0411 | | 0600 | | | 24.0 | 188.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000152
 Roll No. 255126030
 Regn. No. 25-DEO-1030

Name : VIPIN KUMAR TIWARI
 Father's Name : JAI PRAKASH TIWARI
 Mother's Name : LATE MUNNI DEVI TIWARI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 56 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 56 28 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 54 21 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 35 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 58 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 46 17 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0444 | | 0600 | | | 24.0 | 200.0 |
| | GRAND TOTAL | 0444 | | 0600 | | | 24.0 | 200.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000153
 Roll No. 255126031
 Regn. No. 25-DEO-1031

Name : SAMRITI
 Father's Name : ANAND KUMAR
 Mother's Name : MANSI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 61 25 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 59 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 58 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 39 26 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 53 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 49 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0474 | | 0600 | | | 24.0 | 220.0 |
| | GRAND TOTAL | 0474 | | 0600 | | | 24.0 | 220.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 9.17

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000154
 Roll No. 255126032
 Regn. No. 25-DEO-1032

Name : VINIT KUMAR JHA
 Father's Name : BISHNU KANT JHA
 Mother's Name : RITA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 52 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 59 28 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 58 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 36 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 53 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 42 22 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0451 | | 0600 | | | 24.0 | 204.0 |
| | GRAND TOTAL | 0451 | | 0600 | | | 24.0 | 204.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000155
 Roll No. 255126033
 Regn. No. 25-DEO-1033

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

Name : TUSHAR MALIK
 Father's Name : NAVIN KUMAR
 Mother's Name : NEELAM
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 52 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 60 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 59 18 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 17 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 54 16 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 50 17 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0427 | | 0600 | | | 24.0 | 196.0 |
| | GRAND TOTAL | 0427 | | 0600 | | | 24.0 | 196.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.17

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000156
 Roll No. 255126034
 Regn. No. 25-DEO-1034

Name : HARSH VERMA
 Father's Name : ANIL KUMAR
 Mother's Name : USHA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 63 24 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 62 28 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 57 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 35 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 54 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 50 28 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| | TOTAL | 0479 | | 0600 | | | 24.0 | 216.0 |
| | GRAND TOTAL | 0479 | | 0600 | | | 24.0 | 216.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000157
 Roll No. 255126035
 Regn. No. 25-DEO-1035

Name : SHAILENDRA KUMAR AHIRWAR
 Father's Name : R D AHIRWAR
 Mother's Name : KIRANLATA AHIRWAR
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 24 23 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 35 27 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 45 28 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 35 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 53 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 31 21 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| | TOTAL | 0371 | | 0600 | | | 24.0 | 168.0 |
| | GRAND TOTAL | 0371 | | 0600 | | | 24.0 | 168.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000158
 Roll No. 255126037
 Regn. No. 25-DEO-1037

Name : SANJANA KUMARI
 Father's Name : SANJAY KUMAR SINHA
 Mother's Name : ABHA PATEL
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 49 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 52 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 53 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 27 24 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 51 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 39 21 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0408 | | 0600 | | | 24.0 | 188.0 |
| | GRAND TOTAL | 0408 | | 0600 | | | 24.0 | 188.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000159
 Roll No. 255126038
 Regn. No. 25-DEO-1038

Name : PAWAN KUMAR SHARMA
 Father's Name : SURESH CHAND SHARMA
 Mother's Name : SUMAN DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 55 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 49 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 56 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 27 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 50 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 37 20 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0431 | | 0600 | | | 24.0 | 196.0 |
| | GRAND TOTAL | 0431 | | 0600 | | | 24.0 | 196.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.17

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000160
 Roll No. 255126039
 Regn. No. 25-DEO-1039

Name : SURYANSH
 Father's Name : PRAHLAD SINGH
 Mother's Name : ASHA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 48 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 52 28 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 55 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 36 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 54 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 41 23 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0436 | | 0600 | | | 24.0 | 196.0 |
| | GRAND TOTAL | 0436 | | 0600 | | | 24.0 | 196.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.17

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000161
 Roll No. 255126040
 Regn. No. 25-DEO-1040

Name : SOURABH KAMBOJ
 Father's Name : RAMESH KUMAR
 Mother's Name : SUNITA RANI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 42 16 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 40 16 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 53 16 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 36 17 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 54 14 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 38 8 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| | TOTAL | 0350 | | 0600 | | | 24.0 | 164.0 |
| | GRAND TOTAL | 0350 | | 0600 | | | 24.0 | 164.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 6.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000162
 Roll No. 255126041
 Regn. No. 25-DEO-1041

Name : TANVEEN KAUR
 Father's Name : TARVINDER SINGH
 Mother's Name : TARANJEET KAUR
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 56 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 60 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 59 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 35 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 54 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 51 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0466 | | 0600 | | | 24.0 | 212.0 |
| | GRAND TOTAL | 0466 | | 0600 | | | 24.0 | 212.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000163
 Roll No. 255126042
 Regn. No. 25-DEO-1042

Name : VIJAY KUMAR GUPTA
 Father's Name : RAMESHWAR DASS GUPTA
 Mother's Name : MANJU GUPTA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 55 18 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 48 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 54 21 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 41 26 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 53 19 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 40 19 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0415 | | 0600 | | | 24.0 | 192.0 |
| | GRAND TOTAL | 0415 | | 0600 | | | 24.0 | 192.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000164
 Roll No. 255126043
 Regn. No. 25-DEO-1043

Name : HANDE MANOJ YASHWANTRAO
 Father's Name : YASHWANTRAO
 Mother's Name : SHAKUNTALA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 47 24 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 57 18 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 54 20 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 36 20 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 58 20 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 43 15 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0412 | | 0600 | | | 24.0 | 192.0 |
| | GRAND TOTAL | 0412 | | 0600 | | | 24.0 | 192.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000165
 Roll No. 255126044
 Regn. No. 25-DEO-1044

Name : ADITYANAND SARSWATI
 Father's Name : PRAKASH CHANDRA SINHA
 Mother's Name : ARUNA SINHA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 45 19 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 34 15 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 37 19 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 31 9 * | 40AG | 100 | P | 4 | 04.0 | 16.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 27 21 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 34 14 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| | TOTAL | 0305 | | 0600 | | | 24.0 | 132.0 |
| | GRAND TOTAL | 0305 | | 0600 | | | 24.0 | 132.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 5.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000166
 Roll No. 255126045
 Regn. No. 25-DEO-1045

Name : PANKAJ CHOPRA
 Father's Name : MANN SINGH
 Mother's Name : BIRMATI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 56 16 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 50 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 54 21 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 24 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 48 25 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 44 20 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0422 | | 0600 | | | 24.0 | 192.0 |
| | GRAND TOTAL | 0422 | | 0600 | | | 24.0 | 192.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000167
 Roll No. 255126046
 Regn. No. 25-DEO-1046

Name : DIPAK KUMAR GUPTA
 Father's Name : BIJOY KUMAR GUPTA
 Mother's Name : JASODA GUPTA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 52 19 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 56 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 58 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 35 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 57 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 47 26 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0455 | | 0600 | | | 24.0 | 208.0 |
| | GRAND TOTAL | 0455 | | 0600 | | | 24.0 | 208.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.67

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000168
 Roll No. 255126047
 Regn. No. 25-DEO-1047

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

Name : RUPA ROY
 Father's Name : RANJIT CHANDRA ROY
 Mother's Name : TULU ROY
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 56 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 58 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 58 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 40 27 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 57 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 42 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0465 | | 0600 | | | 24.0 | 212.0 |
| | GRAND TOTAL | 0465 | | 0600 | | | 24.0 | 212.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 22,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000169
 Roll No. 255126048
 Regn. No. 25-DEO-1048

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

Name : DIPANKAR DEBNATH
 Father's Name : GOBINDA DEBNATH
 Mother's Name : DIPA DEBNATH
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 10 24 F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 20 20 * | 40AG | 100 | P | 4 | 04.0 | 16.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 17 28 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 13 27 | 40AG | 100 | P | 4 | 04.0 | 16.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 37 24 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 38 22 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | *** | | 0600 | | | 24.0 | 108.0 |
| | | | | | | | 24.0 | 108.0 |

RESULT : RE - TILL JUN- 2027 IN : MBAD-101

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000170
 Roll No. 255126049
 Regn. No. 25-DEO-1049

Name : KUMAR AJAY PRASAD
 Father's Name : RAJENDRA PRASAD
 Mother's Name : GEETA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 58 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 58 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 58 22 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 48 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 39 22 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0440 | | 0600 | | | 24.0 | 200.0 |
| | GRAND TOTAL | 0440 | | 0600 | | | 24.0 | 200.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000171
 Roll No. 255126050
 Regn. No. 25-DEO-1050

Name : VIKASH
 Father's Name : BSAU RAM
 Mother's Name : MAYA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 39 22 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 51 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 47 26 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 28 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 51 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 37 23 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0410 | | 0600 | | | 24.0 | 188.0 |
| | GRAND TOTAL | 0410 | | 0600 | | | 24.0 | 188.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000172
 Roll No. 255126051
 Regn. No. 25-DEO-1051

Name : MAHAMMAD AKBAR HUSSAIN
 Father's Name : MD JAFAR SHAREEF
 Mother's Name : MUMTAJ BEGUM
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 46 20 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 49 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 41 18 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 34 15 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 53 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 42 18 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0380 | | 0600 | | | 24.0 | 176.0 |
| | GRAND TOTAL | 0380 | | 0600 | | | 24.0 | 176.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000173
 Roll No. 255126053
 Regn. No. 25-DEO-1053

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

Name : RAMAN
 Father's Name : ISHAM SINGH
 Mother's Name : SANGITA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 61 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 57 28 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 56 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 36 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 57 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 47 24 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0467 | | 0600 | | | 24.0 | 208.0 |
| | GRAND TOTAL | 0467 | | 0600 | | | 24.0 | 208.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.67

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000174
 Roll No. 255126054
 Regn. No. 25-DEO-1054

Name : DIVYANSH SHRIVASTAVA
 Father's Name : AJAY SHRIVASTAVA
 Mother's Name : ARCHANA SHRIVASTAVA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 54 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 59 28 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 59 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 36 27 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 56 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 49 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| | TOTAL | 0469 | | 0600 | | | 24.0 | 216.0 |
| | GRAND TOTAL | 0469 | | 0600 | | | 24.0 | 216.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000175
 Roll No. 255126055
 Regn. No. 25-DEO-1055

Name : MUSKAN SHARMA
 Father's Name : DARSHAN SHARMA
 Mother's Name : MANJU
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 52 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 54 22 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 49 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 26 21 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 49 20 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 39 21 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0395 | | 0600 | | | 24.0 | 180.0 |
| | GRAND TOTAL | 0395 | | 0600 | | | 24.0 | 180.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000176
 Roll No. 255126057
 Regn. No. 25-DEO-1057

Name : JASKARAN SINGH
 Father's Name : GURMINDER SINGH
 Mother's Name : HARPREET KAUR
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 60 25 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 63 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 63 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 36 28 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 51 28 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 54 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| | TOTAL | 0489 | | 0600 | | | 24.0 | 220.0 |
| | GRAND TOTAL | 0489 | | 0600 | | | 24.0 | 220.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 9.17

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000177
 Roll No. 255126058
 Regn. No. 25-DEO-1058

Name : VINAY GARG
 Father's Name : RAJ KUMAR GARG
 Mother's Name : MANJU GARG
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 59 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 62 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 62 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 28 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 62 25 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 59 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| | TOTAL | 0500 | | 0600 | | | 24.0 | 224.0 |
| | GRAND TOTAL | 0500 | | 0600 | | | 24.0 | 224.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 9.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000178
 Roll No. 255126059
 Regn. No. 25-DEO-1059

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

Name : BHAT MUDASIR HASSAN
 Father's Name : GH HASSAN BHAT
 Mother's Name : BEEBA BANO
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 55 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 61 28 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 58 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 35 27 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 52 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 47 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0461 | | 0600 | | | 24.0 | 208.0 |
| | GRAND TOTAL | 0461 | | 0600 | | | 24.0 | 208.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.67

DATED : JAN 22,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000179
 Roll No. 255126061
 Regn. No. 25-DEO-1061

Name : GARIMA KANSAL
 Father's Name : VED PRAKASH KANSAL
 Mother's Name : SUNITA KANSAL
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 63 19 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 53 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 60 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 36 24 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 56 20 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 48 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0454 | | 0600 | | | 24.0 | 208.0 |
| | GRAND TOTAL | 0454 | | 0600 | | | 24.0 | 208.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.67

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000180
 Roll No. 255126063
 Regn. No. 25-DEO-1063

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

Name : RUCHIKA BHOOMIK
 Father's Name : RAM GOPAL BHOOMIK
 Mother's Name : KRISHNA BHOOMIK
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 59 17 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 56 20 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 56 20 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 40 26 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 52 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 42 21 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0431 | | 0600 | | | 24.0 | 200.0 |
| | GRAND TOTAL | 0431 | | 0600 | | | 24.0 | 200.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000181
 Roll No. 255126064
 Regn. No. 25-DEO-1064

Name : SHANTI
 Father's Name : HAVALDAR SINGH
 Mother's Name : SUMAN SINGH
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 59 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 60 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 56 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 36 28 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 52 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 48 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0465 | | 0600 | | | 24.0 | 208.0 |
| | GRAND TOTAL | 0465 | | 0600 | | | 24.0 | 208.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.67

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000182
 Roll No. 255126065
 Regn. No. 25-DEO-1065

Name : KARAN
 Father's Name : HARENDER
 Mother's Name : BIMLA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 47 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 53 28 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 55 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 38 24 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 45 24 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 42 22 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0425 | | 0600 | | | 24.0 | 192.0 |
| | GRAND TOTAL | 0425 | | 0600 | | | 24.0 | 192.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000183
 Roll No. 255126066
 Regn. No. 25-DEO-1066

Name : KARAN BHARDWAJ
 Father's Name : RAJESH KUMAR
 Mother's Name : JYOTI DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 40 12 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 41 14 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 47 14 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 31 12 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 52 14 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 38 17 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0332 | | 0600 | | | 24.0 | 160.0 |
| | GRAND TOTAL | 0332 | | 0600 | | | 24.0 | 160.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 6.67

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000184
 Roll No. 255126067
 Regn. No. 25-DEO-1067

Name : ABHIMANYU KUMAR SINGH
 Father's Name : HARENDRA PRASAD SINGH
 Mother's Name : MIRA SINGH
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 58 22 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 58 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 56 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 35 25 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 48 20 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 40 19 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0431 | | 0600 | | | 24.0 | 196.0 |
| | GRAND TOTAL | 0431 | | 0600 | | | 24.0 | 196.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.17

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000185
 Roll No. 255126068
 Regn. No. 25-DEO-1068

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

Name : DEEPAK KUMAR
 Father's Name : CHOTE
 Mother's Name : SANTOSH RANI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | | | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|----|---|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 13 | 23 | F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 08 | 15 | F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 11 | 18 | F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 17 | 19 | F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 10 | 23 | F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 19 | 21 | * | 40AG | 100 | P | 4 | 04.0 | 16.0 |
| | TOTAL | *** | | | | 0600 | | | 24.0 | 016.0 |
| | | | | | | | | | 24.0 | 16.0 |

RESULT : RE - TILL JUN- 2027 IN : MBAD-101 MBAD-102 MBAD-103 MBAD-104 MBAD-105

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000186
 Roll No. 255126069
 Regn. No. 25-DEO-1069

Name : RASHMI KOSHTA
 Father's Name : MUKUND LAL KOSHTA
 Mother's Name : NARMADA KOSHTA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 53 17 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 55 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 60 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 35 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 56 22 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 41 20 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0436 | | 0600 | | | 24.0 | 200.0 |
| | GRAND TOTAL | 0436 | | 0600 | | | 24.0 | 200.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000187
 Roll No. 255126070
 Regn. No. 25-DEO-1070

Name : RAJESH KUMAR
 Father's Name : CHANDER MOHAN
 Mother's Name : ANITA RANI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 56 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 54 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 52 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 39 28 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 49 24 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 35 21 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0434 | | 0600 | | | 24.0 | 200.0 |
| | GRAND TOTAL | 0434 | | 0600 | | | 24.0 | 200.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000188
 Roll No. 255126071
 Regn. No. 25-DEO-1071

Name : SAHIL KUMAR
 Father's Name : ASHOK KUMAR
 Mother's Name : RANI DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 47 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 56 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 59 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 39 23 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 48 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 46 20 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0435 | | 0600 | | | 24.0 | 200.0 |
| | GRAND TOTAL | 0435 | | 0600 | | | 24.0 | 200.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000189
 Roll No. 255126072
 Regn. No. 25-DEO-1072

Name : LAKSHAY KUMAR
 Father's Name : NEERAJ KUMAR
 Mother's Name : MANJU
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 51 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 56 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 51 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 40 17 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 55 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 44 19 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0425 | | 0600 | | | 24.0 | 192.0 |
| | GRAND TOTAL | 0425 | | 0600 | | | 24.0 | 192.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000190
 Roll No. 255126074
 Regn. No. 25-DEO-1074

Name : SUNIL KUMAR
 Father's Name : GURMEL SINGH
 Mother's Name : KANTA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 63 23 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 53 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 56 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 38 18 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 57 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 50 19 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0453 | | 0600 | | | 24.0 | 208.0 |
| | GRAND TOTAL | 0453 | | 0600 | | | 24.0 | 208.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.67

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000191
 Roll No. 255126075
 Regn. No. 25-DEO-1075

Name : ADITYA RAJ
 Father's Name : SANTOSH KUMAR
 Mother's Name : CHANDA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 65 17 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 57 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 60 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 35 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 58 22 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 49 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0463 | | 0600 | | | 24.0 | 208.0 |
| | GRAND TOTAL | 0463 | | 0600 | | | 24.0 | 208.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.67

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000192
 Roll No. 255126076
 Regn. No. 25-DEO-1076

Name : ROOPA
 Father's Name : JAGMAL
 Mother's Name : LALITA RANI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 49 13 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 53 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 48 24 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 34 16 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 49 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 45 17 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0397 | | 0600 | | | 24.0 | 180.0 |
| | GRAND TOTAL | 0397 | | 0600 | | | 24.0 | 180.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000193
 Roll No. 255126077
 Regn. No. 25-DEO-1077

Name : HIMANI
 Father's Name : ANAND SINGH
 Mother's Name : ASHA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 41 19 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 32 24 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 36 18 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 27 23 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 39 21 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 27 18 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| | TOTAL | 0325 | | 0600 | | | 24.0 | 152.0 |
| | GRAND TOTAL | 0325 | | 0600 | | | 24.0 | 152.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 6.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000194
 Roll No. 255126078
 Regn. No. 25-DEO-1078

Name : AMIT SHEORAN
 Father's Name : RANBIR SINGH SHEORAN
 Mother's Name : SUNITA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 54 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 59 28 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 54 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 27 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 57 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 43 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0458 | | 0600 | | | 24.0 | 208.0 |
| | GRAND TOTAL | 0458 | | 0600 | | | 24.0 | 208.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.67

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000195
 Roll No. 255126079
 Regn. No. 25-DEO-1079

Name : NITIN KUMAR
 Father's Name : KARTAR
 Mother's Name : BALA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 28 25 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 51 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 48 18 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 33 15 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 53 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 49 13 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0381 | | 0600 | | | 24.0 | 176.0 |
| | GRAND TOTAL | 0381 | | 0600 | | | 24.0 | 176.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000196
 Roll No. 255126081
 Regn. No. 25-DEO-1081

Name : SHRIRAM MANMOHAN TIWARI
 Father's Name : MANMOHAN TIWARI
 Mother's Name : CHANDA TIWARI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 54 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 56 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 55 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 38 27 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 55 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 38 21 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0447 | | 0600 | | | 24.0 | 208.0 |
| | GRAND TOTAL | 0447 | | 0600 | | | 24.0 | 208.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.67

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000197
 Roll No. 255126082
 Regn. No. 25-DEO-1082

Name : VINAY KUMAR
 Father's Name : JAI PRAKASH
 Mother's Name : REETA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 55 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 57 28 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 57 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 40 27 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 58 12 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 44 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0450 | | 0600 | | | 24.0 | 208.0 |
| | GRAND TOTAL | 0450 | | 0600 | | | 24.0 | 208.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.67

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000198
 Roll No. 255126083
 Regn. No. 25-DEO-1083

Name : GOURKIRAN CHOUDHURY
 Father's Name : TAPAN CHOUDHURY
 Mother's Name : ANJANA CHOUDHURY
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 58 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 59 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 52 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 38 28 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 49 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 29 20 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| | TOTAL | 0434 | | 0600 | | | 24.0 | 196.0 |
| | GRAND TOTAL | 0434 | | 0600 | | | 24.0 | 196.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.17

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000199
 Roll No. 255126084
 Regn. No. 25-DEO-1084

Name : DEVENDER KUMAR
 Father's Name : LALA RAM
 Mother's Name : SAVITRI DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 48 18 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 54 22 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 53 22 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 34 20 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 57 22 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 38 15 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| | TOTAL | 0403 | | 0600 | | | 24.0 | 188.0 |
| | GRAND TOTAL | 0403 | | 0600 | | | 24.0 | 188.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000200
 Roll No. 255126085
 Regn. No. 25-DEO-1085

Name : JATIN KUMAR
 Father's Name : SANDEEP KUMAR
 Mother's Name : DIMPLE
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 60 16 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 55 19 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 53 17 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 36 21 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 52 16 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 50 13 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0408 | | 0600 | | | 24.0 | 188.0 |
| | GRAND TOTAL | 0408 | | 0600 | | | 24.0 | 188.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000201
 Roll No. 255126086
 Regn. No. 25-DEO-1086

Name : SWATI
 Father's Name : KANWAR PAL
 Mother's Name : KAMLESH
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 59 21 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 61 28 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 59 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 39 26 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 61 24 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 52 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| | TOTAL | 0480 | | 0600 | | | 24.0 | 224.0 |
| | GRAND TOTAL | 0480 | | 0600 | | | 24.0 | 224.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 9.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000202
 Roll No. 255126087
 Regn. No. 25-DEO-1087

Name : AJEET KUMAR
 Father's Name : RAMADHAR ROY
 Mother's Name : SUNAINA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 61 21 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 59 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 59 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 35 24 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 59 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 54 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| | TOTAL | 0472 | | 0600 | | | 24.0 | 208.0 |
| | GRAND TOTAL | 0472 | | 0600 | | | 24.0 | 208.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.67

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000203
 Roll No. 255126088
 Regn. No. 25-DEO-1088

Name : NEHA SAHU
 Father's Name : JAI PRAKASH SAHU
 Mother's Name : UMA DEVI SAHU
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 53 20 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 51 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 57 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 33 24 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 54 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 38 19 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0419 | | 0600 | | | 24.0 | 192.0 |
| | GRAND TOTAL | 0419 | | 0600 | | | 24.0 | 192.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000204
 Roll No. 255126089
 Regn. No. 25-DEO-1089

Name : NARENDER
 Father's Name : SHYAM SUNDER
 Mother's Name : KAMLESH DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 61 25 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 53 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 54 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 34 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 53 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 47 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0447 | | 0600 | | | 24.0 | 208.0 |
| | GRAND TOTAL | 0447 | | 0600 | | | 24.0 | 208.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.67

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000205
 Roll No. 255126090
 Regn. No. 25-DEO-1090

Name : GANGA SINGH
 Father's Name : GURDEEP SINGH
 Mother's Name : PREMRATTAN KAUR
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 55 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 56 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 57 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 23 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 52 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 37 20 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0434 | | 0600 | | | 24.0 | 196.0 |
| | GRAND TOTAL | 0434 | | 0600 | | | 24.0 | 196.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.17

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000206
 Roll No. 255126091
 Regn. No. 25-DEO-1091

Name : DHARMENDAR
 Father's Name : RAM CHANDAR
 Mother's Name : SUMITRA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 56 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 53 29 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 56 28 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 36 27 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 56 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 44 20 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0453 | | 0600 | | | 24.0 | 200.0 |
| | GRAND TOTAL | 0453 | | 0600 | | | 24.0 | 200.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000207
 Roll No. 255126092
 Regn. No. 25-DEO-1092

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

Name : SHIVANSH KUMAR
 Father's Name : SURINDER KUMAR
 Mother's Name : ANJANA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 56 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 49 28 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 60 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 33 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | AB 23 F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | AB 22 F | 40AG | 100 | F | 0 | 04.0 | 0 |
| | TOTAL | *** | | 0600 | | | 24.0 | 140.0 |
| | | | | | | | 24.0 | 140.0 |

RESULT : RE - TILL JUN- 2027 IN : MBAD-105 MBAD-106

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000208
 Roll No. 255126093
 Regn. No. 25-DEO-1093

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

Name : AMIT KAPOOR
 Father's Name : NARESH KUMAR
 Mother's Name : KAMLESH RANI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 58 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 61 28 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 53 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 36 27 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 54 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 48 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0463 | | 0600 | | | 24.0 | 208.0 |
| | GRAND TOTAL | 0463 | | 0600 | | | 24.0 | 208.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.67

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000209
 Roll No. 255126094
 Regn. No. 25-DEO-1094

Name : AMRISH KUMAR
 Father's Name : RANBIR SINGH
 Mother's Name : RAJBALA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 60 21 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 61 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 51 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 36 27 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 48 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 43 20 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0445 | | 0600 | | | 24.0 | 200.0 |
| | GRAND TOTAL | 0445 | | 0600 | | | 24.0 | 200.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000210
 Roll No. 255126095
 Regn. No. 25-DEO-1095

Name : JITENDAR SINGH GHUGHTIYAL
 Father's Name : PURAN SINGH GHUGHTIYAL
 Mother's Name : TULSI DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 29 11 * | 40AG | 100 | P | 4 | 04.0 | 16.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 28 15 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 31 14 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 21 13 F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 30 14 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 31 14 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| | TOTAL | *** | | 0600 | | | 24.0 | 096.0 |
| | | | | | | | 24.0 | 96.0 |

RESULT : RE - TILL JUN- 2027 IN : MBAD-104

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000211
 Roll No. 255126096
 Regn. No. 25-DEO-1096

Name : ABHINAV BANSAL
 Father's Name : SURESH BANSAL
 Mother's Name : MONIKA BANSAL
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 48 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 52 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 57 22 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 27 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 56 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 45 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0438 | | 0600 | | | 24.0 | 200.0 |
| | GRAND TOTAL | 0438 | | 0600 | | | 24.0 | 200.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000212
 Roll No. 255126097
 Regn. No. 25-DEO-1097

Name : ANUP SINGH
 Father's Name : MAHAVEER PARSAD
 Mother's Name : KELO DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 17 23 * | 40AG | 100 | P | 4 | 04.0 | 16.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 13 27 * | 40AG | 100 | P | 4 | 04.0 | 16.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 14 26 | 40AG | 100 | P | 4 | 04.0 | 16.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 29 25 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 49 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 38 23 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0307 | | 0600 | | | 24.0 | 132.0 |
| | GRAND TOTAL | 0307 | | 0600 | | | 24.0 | 132.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 5.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000213
 Roll No. 255126098
 Regn. No. 25-DEO-1098

Name : BHARTI DEVI
 Father's Name : UTTAM SINGH
 Mother's Name : LAKSHMI DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 60 22 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 58 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 53 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 38 25 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 49 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 37 24 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0443 | | 0600 | | | 24.0 | 200.0 |
| | GRAND TOTAL | 0443 | | 0600 | | | 24.0 | 200.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000214
 Roll No. 255126099
 Regn. No. 25-DEO-1099

Name : AMIT ROHILLA
 Father's Name : SATBIR SINGH ROHILLA
 Mother's Name : SARLA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 47 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 54 22 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 54 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 39 25 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 60 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 45 24 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0440 | | 0600 | | | 24.0 | 200.0 |
| | GRAND TOTAL | 0440 | | 0600 | | | 24.0 | 200.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000215
 Roll No. 255126100
 Regn. No. 25-DEO-1100

Name : RAJ KUMAR TRIPATHI
 Father's Name : MOHAN LAL TRIPATHI
 Mother's Name : MANJU LATA TRIPATHI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 38 20 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 25 17 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 35 20 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 28 21 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 38 20 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 26 15 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| | TOTAL | 0303 | | 0600 | | | 24.0 | 144.0 |
| | GRAND TOTAL | 0303 | | 0600 | | | 24.0 | 144.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 6.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000216
 Roll No. 255126101
 Regn. No. 25-DEO-1101

Name : DINESH KUMAR PATEL
 Father's Name : BHIM SEN PATEL
 Mother's Name : BELA KALI PATEL
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 52 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 46 27 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 51 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 35 25 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 44 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 49 18 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0414 | | 0600 | | | 24.0 | 188.0 |
| | GRAND TOTAL | 0414 | | 0600 | | | 24.0 | 188.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000217
 Roll No. 255126102
 Regn. No. 25-DEO-1102

Name : MAYANK TARKE
 Father's Name : D M TARKE
 Mother's Name : JAYASHREE TARKE
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 49 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 37 21 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 47 18 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 30 22 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 52 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 35 19 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| | TOTAL | 0378 | | 0600 | | | 24.0 | 176.0 |
| | GRAND TOTAL | 0378 | | 0600 | | | 24.0 | 176.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000218
 Roll No. 255126103
 Regn. No. 25-DEO-1103

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

Name : RAVI KUMAR
 Father's Name : PREM CHAND
 Mother's Name : BABLI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 57 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 50 28 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 54 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 36 28 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 57 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 48 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0456 | | 0600 | | | 24.0 | 204.0 |
| | GRAND TOTAL | 0456 | | 0600 | | | 24.0 | 204.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000219
 Roll No. 255126104
 Regn. No. 25-DEO-1104

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

Name : KARTIK TYAGI
 Father's Name : LAXMI CHAND TYAGI
 Mother's Name : NEELAM TYAGI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 56 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 61 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 62 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 35 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 60 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 49 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0469 | | 0600 | | | 24.0 | 212.0 |
| | GRAND TOTAL | 0469 | | 0600 | | | 24.0 | 212.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 22,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000220
 Roll No. 255126105
 Regn. No. 25-DEO-1105

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

Name : AKHIL MATHEW
 Father's Name : MATHAI PF
 Mother's Name : SUMA MATHAI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 50 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 50 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 52 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 38 23 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 54 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 39 21 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0427 | | 0600 | | | 24.0 | 200.0 |
| | GRAND TOTAL | 0427 | | 0600 | | | 24.0 | 200.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000221
 Roll No. 255126106
 Regn. No. 25-DEO-1106

Name : PRATIBHA GUPTA
 Father's Name : SHIV KUMAR GUPTA
 Mother's Name : KIRAN GUPTA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 52 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 35 27 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 47 28 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 40 29 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 54 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 46 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0430 | | 0600 | | | 24.0 | 200.0 |
| | GRAND TOTAL | 0430 | | 0600 | | | 24.0 | 200.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000222
 Roll No. 255126107
 Regn. No. 25-DEO-1107

Name : SANIYA SHAKEEL
 Father's Name : SHAKEEL AHMAD
 Mother's Name : SHAFIQA SHAH
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 53 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 56 14 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 53 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 36 28 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 49 24 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 39 21 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0424 | | 0600 | | | 24.0 | 192.0 |
| | GRAND TOTAL | 0424 | | 0600 | | | 24.0 | 192.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000223
 Roll No. 255126108
 Regn. No. 25-DEO-1108

Name : PRAWEEN KUMAR SINGH
 Father's Name : BALA LAKHINDRA SINGH
 Mother's Name : ASHA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 55 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 49 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 55 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 40 26 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 54 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 45 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0440 | | 0600 | | | 24.0 | 204.0 |
| | GRAND TOTAL | 0440 | | 0600 | | | 24.0 | 204.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000224
 Roll No. 255126109
 Regn. No. 25-DEO-1109

Name : AAKASH SINGLA
 Father's Name : RAJIV
 Mother's Name : KUSUM
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 62 24 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 61 28 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 61 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 38 28 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 57 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 44 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0474 | | 0600 | | | 24.0 | 220.0 |
| | GRAND TOTAL | 0474 | | 0600 | | | 24.0 | 220.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 9.17

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000225
 Roll No. 255126110
 Regn. No. 25-DEO-1110

Name : VARUN KUMAR
 Father's Name : DHARAMVIR
 Mother's Name : PUSHPA RANI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 59 18 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 62 28 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 62 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 36 27 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 58 21 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 50 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0469 | | 0600 | | | 24.0 | 212.0 |
| | GRAND TOTAL | 0469 | | 0600 | | | 24.0 | 212.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000226
 Roll No. 255126112
 Regn. No. 25-DEO-1112

Name : RAHUL
 Father's Name : NARESH
 Mother's Name : CHANDERO DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 52 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 50 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 58 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 35 24 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 52 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 45 20 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0432 | | 0600 | | | 24.0 | 200.0 |
| | GRAND TOTAL | 0432 | | 0600 | | | 24.0 | 200.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000227
 Roll No. 255126113
 Regn. No. 25-DEO-1113

Name : SHAH AMAM VASTUPAL
 Father's Name : VASTUPAL
 Mother's Name : JAIMINI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 58 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 59 28 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 57 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 38 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 60 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 52 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| | TOTAL | 0475 | | 0600 | | | 24.0 | 212.0 |
| | GRAND TOTAL | 0475 | | 0600 | | | 24.0 | 212.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000228
 Roll No. 255126114
 Regn. No. 25-DEO-1114

Name : NISHANT KUMAR
 Father's Name : GORDHAN SINGH
 Mother's Name : NIRMALA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 58 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 59 28 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 56 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 35 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 61 24 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 50 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0469 | | 0600 | | | 24.0 | 212.0 |
| | GRAND TOTAL | 0469 | | 0600 | | | 24.0 | 212.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000229
 Roll No. 255126115
 Regn. No. 25-DEO-1115

Name : ADITYA BINDAL
 Father's Name : SURENDER KUMAR
 Mother's Name : JOGINDRO DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 52 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 56 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 59 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 35 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 54 22 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 45 20 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0446 | | 0600 | | | 24.0 | 208.0 |
| | GRAND TOTAL | 0446 | | 0600 | | | 24.0 | 208.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.67

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000230
 Roll No. 255126116
 Regn. No. 25-DEO-1116

Name : RAHUL SHARMA
 Father's Name : RAMESH SHARMA
 Mother's Name : URMILA SHARMA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 63 12 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 59 28 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 56 28 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 27 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 57 22 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 47 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0458 | | 0600 | | | 24.0 | 208.0 |
| | GRAND TOTAL | 0458 | | 0600 | | | 24.0 | 208.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.67

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000231
 Roll No. 255126117
 Regn. No. 25-DEO-1117

Name : MOHAMMED WASIF
 Father's Name : MOHAMMED PARWEZ HUSSAIN
 Mother's Name : SHABANA PARWEZ
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 61 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 64 17 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 62 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 38 16 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 55 12 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 45 12 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0434 | | 0600 | | | 24.0 | 200.0 |
| | GRAND TOTAL | 0434 | | 0600 | | | 24.0 | 200.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000232
 Roll No. 255126118
 Regn. No. 25-DEO-1118

Name : YOGENDER
 Father's Name : OM PRAKASH
 Mother's Name : ANITA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 32 24 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 46 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 57 19 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 27 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 52 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 38 22 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0398 | | 0600 | | | 24.0 | 188.0 |
| | GRAND TOTAL | 0398 | | 0600 | | | 24.0 | 188.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000233
 Roll No. 255126119
 Regn. No. 25-DEO-1119

Name : YOGESH
 Father's Name : SURAJBHAN
 Mother's Name : KAMLESH
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 46 24 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 55 29 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 54 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 36 25 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 55 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 41 21 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0435 | | 0600 | | | 24.0 | 196.0 |
| | GRAND TOTAL | 0435 | | 0600 | | | 24.0 | 196.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.17

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000234
 Roll No. 255126120
 Regn. No. 25-DEO-1120

Name : HIMANSHI
 Father's Name : PAWAN SINGH
 Mother's Name : SUDESH
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 58 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 60 28 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 64 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 40 27 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 51 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 45 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0468 | | 0600 | | | 24.0 | 216.0 |
| | GRAND TOTAL | 0468 | | 0600 | | | 24.0 | 216.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000235
 Roll No. 255126121
 Regn. No. 25-DEO-1121

Name : SATNAM SINGH
 Father's Name : INDER PAL SINGH
 Mother's Name : UPKAR
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 58 21 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 58 21 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 58 19 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 33 20 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 53 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 36 14 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| | TOTAL | 0412 | | 0600 | | | 24.0 | 188.0 |
| | GRAND TOTAL | 0412 | | 0600 | | | 24.0 | 188.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000236
 Roll No. 255126122
 Regn. No. 25-DEO-1122

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

Name : ATANU DAS
 Father's Name : MILAN DAS
 Mother's Name : REKHA DAS
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 54 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 58 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 59 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 41 27 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 59 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 45 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0467 | | 0600 | | | 24.0 | 216.0 |
| | GRAND TOTAL | 0467 | | 0600 | | | 24.0 | 216.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED : JAN 22,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000237
 Roll No. 255126124
 Regn. No. 25-DEO-1124

Name : SHANTANU GARG
 Father's Name : SANJAY GARG
 Mother's Name : SANGEETA GARG
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 62 24 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 64 28 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 63 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 36 25 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 54 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 42 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0472 | | 0600 | | | 24.0 | 216.0 |
| | GRAND TOTAL | 0472 | | 0600 | | | 24.0 | 216.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000238
 Roll No. 255126125
 Regn. No. 25-DEO-1125

Name : PRINCE KUMAR
 Father's Name : PARMANAND
 Mother's Name : MANJEET KAUR
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 58 19 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 58 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 60 17 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 40 18 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 54 19 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 53 19 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0442 | | 0600 | | | 24.0 | 204.0 |
| | GRAND TOTAL | 0442 | | 0600 | | | 24.0 | 204.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000239
 Roll No. 255126126
 Regn. No. 25-DEO-1126

Name : DEVANAND TIWARI
 Father's Name : SACHIDANAND TIWARI
 Mother's Name : SANDHYA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 52 17 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 31 22 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 40 22 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 36 24 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 54 17 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 41 8 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| | TOTAL | 0364 | | 0600 | | | 24.0 | 164.0 |
| | GRAND TOTAL | 0364 | | 0600 | | | 24.0 | 164.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 6.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000240
 Roll No. 255126127
 Regn. No. 25-DEO-1127

Name : VINITA BHATT
 Father's Name : HEERA BALLABH BHATT
 Mother's Name : ANANDI BHATT
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 55 21 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 57 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 60 25 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 36 27 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 57 21 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 43 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0452 | | 0600 | | | 24.0 | 208.0 |
| | GRAND TOTAL | 0452 | | 0600 | | | 24.0 | 208.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.67

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000241
 Roll No. 255126128
 Regn. No. 25-DEO-1128

Name : KIRTI CHOPRA
 Father's Name : RAJESH CHOPRA
 Mother's Name : VANDNA CHOPRA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 26 21 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 32 28 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 37 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 38 25 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 36 23 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 36 23 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0351 | | 0600 | | | 24.0 | 160.0 |
| | GRAND TOTAL | 0351 | | 0600 | | | 24.0 | 160.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 6.67

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000242
 Roll No. 255126129
 Regn. No. 25-DEO-1129

Name : RUCHI RANA
 Father's Name : DINESH KUMAR RANA
 Mother's Name : SANGEETA RANA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 61 21 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 56 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 55 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 39 25 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 59 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 43 24 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0459 | | 0600 | | | 24.0 | 204.0 |
| | GRAND TOTAL | 0459 | | 0600 | | | 24.0 | 204.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000243
 Roll No. 255126130
 Regn. No. 25-DEO-1130

Name : MANISH M
 Father's Name : DESH RAJ
 Mother's Name : ROSHANI DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 57 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 53 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 55 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 29 25 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 47 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 28 20 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| | TOTAL | 0411 | | 0600 | | | 24.0 | 184.0 |
| | GRAND TOTAL | 0411 | | 0600 | | | 24.0 | 184.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.67

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000244
 Roll No. 255126131
 Regn. No. 25-DEO-1131

Name : SANDEEP KALRA
 Father's Name : T R KALRA
 Mother's Name : PREM LATA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 60 18 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 60 25 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 62 25 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 38 25 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 55 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 49 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0463 | | 0600 | | | 24.0 | 212.0 |
| | GRAND TOTAL | 0463 | | 0600 | | | 24.0 | 212.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000245
 Roll No. 255126132
 Regn. No. 25-DEO-1132

Name : SANJAY KUMAR
 Father's Name : RAMESH CHANDRA
 Mother's Name : MUNNI DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 48 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 56 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 59 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 36 25 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 52 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 40 20 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0433 | | 0600 | | | 24.0 | 200.0 |
| | GRAND TOTAL | 0433 | | 0600 | | | 24.0 | 200.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000246
 Roll No. 255126133
 Regn. No. 25-DEO-1133

Name : SUKHVINDER SINGH
 Father's Name : SUBHASH CHANDER
 Mother's Name : GANGA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 48 20 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 45 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 59 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 34 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 55 19 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 40 22 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0416 | | 0600 | | | 24.0 | 192.0 |
| | GRAND TOTAL | 0416 | | 0600 | | | 24.0 | 192.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMIN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000247
 Roll No. 255126134
 Regn. No. 25-DEO-1134

Name : MANOJ KUMAR
 Father's Name : KASHMIRI LAL
 Mother's Name : MURTI DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 46 19 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 53 20 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 46 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 34 23 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 50 24 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 38 23 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0398 | | 0600 | | | 24.0 | 184.0 |
| | GRAND TOTAL | 0398 | | 0600 | | | 24.0 | 184.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.67

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000248
 Roll No. 255126136
 Regn. No. 25-DEO-1136

Name : DEEPAK
 Father's Name : BALRAM
 Mother's Name : INDERAVATI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 54 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 55 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 54 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 34 27 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 54 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 40 22 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0442 | | 0600 | | | 24.0 | 200.0 |
| | GRAND TOTAL | 0442 | | 0600 | | | 24.0 | 200.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000249
 Roll No. 255126137
 Regn. No. 25-DEO-1137

Name : JYOTSNA SHARMA
 Father's Name : RAMESH SHARMA
 Mother's Name : SUNITA SHARMA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 60 20 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 58 28 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 59 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 39 23 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 57 19 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 47 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0456 | | 0600 | | | 24.0 | 208.0 |
| | GRAND TOTAL | 0456 | | 0600 | | | 24.0 | 208.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.67

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000250
 Roll No. 255126138
 Regn. No. 25-DEO-1138

Name : KAMAL
 Father's Name : RAJESH
 Mother's Name : KRISHNA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 50 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 50 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 56 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 38 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 42 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | AB 21 F | 40AG | 100 | F | 0 | 04.0 | 0 |
| | TOTAL | *** | | 0600 | | | 24.0 | 164.0 |
| | | | | | | | 24.0 | 164.0 |

RESULT : RE - TILL JUN- 2027 IN : MBAD-106

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000251
 Roll No. 255126139
 Regn. No. 25-DEO-1139

Name : ANU SHRIVASTAVA
 Father's Name : ANJANI KUMAR PRASAD
 Mother's Name : REENA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 58 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 57 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 61 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 34 27 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 56 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 47 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0463 | | 0600 | | | 24.0 | 212.0 |
| | GRAND TOTAL | 0463 | | 0600 | | | 24.0 | 212.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000252
 Roll No. 255126140
 Regn. No. 25-DEO-1140

Name : MIHIKA GHOSH
 Father's Name : AJIT KUMAR GHOSH
 Mother's Name : SIMA GHOSH
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 62 25 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 61 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 60 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 39 26 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 59 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 54 21 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| | TOTAL | 0486 | | 0600 | | | 24.0 | 224.0 |
| | GRAND TOTAL | 0486 | | 0600 | | | 24.0 | 224.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 9.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000253
 Roll No. 255126141
 Regn. No. 25-DEO-1141

Name : HARSHI
 Father's Name : AMARNATH
 Mother's Name : ALKA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 60 22 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 62 28 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 56 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 38 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 57 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 46 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0467 | | 0600 | | | 24.0 | 208.0 |
| | GRAND TOTAL | 0467 | | 0600 | | | 24.0 | 208.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.67

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000254
 Roll No. 255126142
 Regn. No. 25-DEO-1142

Name : RAJEEV KUMAR
 Father's Name : MAHESH PRASAD YADAV
 Mother's Name : KIRAN DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 58 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 55 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 60 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 39 26 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 57 22 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 45 24 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0462 | | 0600 | | | 24.0 | 212.0 |
| | GRAND TOTAL | 0462 | | 0600 | | | 24.0 | 212.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000255
 Roll No. 255126143
 Regn. No. 25-DEO-1143

Name : UJALA SINGH
 Father's Name : UMESH SINGH
 Mother's Name : LATE USHA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 60 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 53 28 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 58 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 39 26 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 52 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 40 26 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0456 | | 0600 | | | 24.0 | 208.0 |
| | GRAND TOTAL | 0456 | | 0600 | | | 24.0 | 208.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.67

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000256
 Roll No. 255126144
 Regn. No. 25-DEO-1144

Name : SOHAN LAL
 Father's Name : BAKSHI RAM
 Mother's Name : RAJ BALA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 53 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 43 29 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 59 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 40 26 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 48 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 35 20 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0425 | | 0600 | | | 24.0 | 200.0 |
| | GRAND TOTAL | 0425 | | 0600 | | | 24.0 | 200.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000257
 Roll No. 255126145
 Regn. No. 25-DEO-1145

Name : VISHVAS RALHAN
 Father's Name : SOHAN LAL
 Mother's Name : GEETA RANI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 57 20 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 62 20 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 57 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 38 27 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 40 25 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | AB 23 F | 40AG | 100 | F | 0 | 04.0 | 0 |
| | TOTAL | *** | | 0600 | | | 24.0 | 172.0 |
| | | | | | | | 24.0 | 172.0 |

RESULT : RE - TILL JUN- 2027 IN : MBAD-106

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000258
 Roll No. 255126146
 Regn. No. 25-DEO-1146

Name : V PRABHAKAR
 Father's Name : PADMANABHAM
 Mother's Name : V JANAKI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 32 21 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 29 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 43 25 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 19 21 | 40AG | 100 | P | 4 | 04.0 | 16.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 41 22 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 33 19 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| | TOTAL | 0331 | | 0600 | | | 24.0 | 152.0 |
| | GRAND TOTAL | 0331 | | 0600 | | | 24.0 | 152.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 6.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000259
 Roll No. 255126147
 Regn. No. 25-DEO-1147

Name : AMIT SHARMA
 Father's Name : JAI BHAGWAN
 Mother's Name : PUSPA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 47 24 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 61 28 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 62 20 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 21 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 53 17 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 43 19 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0432 | | 0600 | | | 24.0 | 196.0 |
| | GRAND TOTAL | 0432 | | 0600 | | | 24.0 | 196.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.17

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000260
 Roll No. 255126149
 Regn. No. 25-DEO-1149

Name : ASHISH GAUTAM
 Father's Name : HEMANT CHAWLA
 Mother's Name : MONIKA CHAWLA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 56 21 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 58 12 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 52 14 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 36 15 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 52 16 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 43 9 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| | TOTAL | 0384 | | 0600 | | | 24.0 | 180.0 |
| | GRAND TOTAL | 0384 | | 0600 | | | 24.0 | 180.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000261
 Roll No. 255126150
 Regn. No. 25-DEO-1150

Name : RAVINDER SINGH
 Father's Name : LAXMAN SINGH
 Mother's Name : GULAB KANWAR
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 47 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 56 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 48 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 34 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 56 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 54 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| | TOTAL | 0439 | | 0600 | | | 24.0 | 200.0 |
| | GRAND TOTAL | 0439 | | 0600 | | | 24.0 | 200.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000262
 Roll No. 255126151
 Regn. No. 25-DEO-1151

Name : RAHUL
 Father's Name : RAVIDUTT
 Mother's Name : SANTRA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 49 24 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 50 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 59 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 35 21 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 57 20 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 40 17 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0425 | | 0600 | | | 24.0 | 200.0 |
| | GRAND TOTAL | 0425 | | 0600 | | | 24.0 | 200.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000263
 Roll No. 255126152
 Regn. No. 25-DEO-1152

Name : SHILPA
 Father's Name : JAGMOHAN SAHNI
 Mother's Name : ANJALI SAHNI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 59 21 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 58 28 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 61 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 36 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 53 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 41 21 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0453 | | 0600 | | | 24.0 | 208.0 |
| | GRAND TOTAL | 0453 | | 0600 | | | 24.0 | 208.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.67

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000264
 Roll No. 255126153
 Regn. No. 25-DEO-1153

Name : SANTOSH KUMAR
 Father's Name : SURESHA NAND
 Mother's Name : ASHA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 53 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 43 24 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 58 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 38 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 48 20 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 46 20 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0424 | | 0600 | | | 24.0 | 196.0 |
| | GRAND TOTAL | 0424 | | 0600 | | | 24.0 | 196.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.17

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000265
 Roll No. 255126154
 Regn. No. 25-DEO-1154

Name : NEHA SINHA
 Father's Name : SHANKER PRATAP SINGH
 Mother's Name : ARTI SINHA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 58 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 55 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 56 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 34 25 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 51 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 45 28 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0450 | | 0600 | | | 24.0 | 204.0 |
| | GRAND TOTAL | 0450 | | 0600 | | | 24.0 | 204.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000266
 Roll No. 255126155
 Regn. No. 25-DEO-1155

Name : AKSHAY DEEP NARIYAL
 Father's Name : KAILASH CHANDRA NARIYAL
 Mother's Name : DEEPA NARIYAL
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 41 20 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 40 16 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 43 19 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 33 18 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 57 20 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 39 22 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0368 | | 0600 | | | 24.0 | 172.0 |
| | GRAND TOTAL | 0368 | | 0600 | | | 24.0 | 172.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.17

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000267
 Roll No. 255126156
 Regn. No. 25-DEO-1156

Name : ETTI SINGH
 Father's Name : BRIJBHAN SINGH
 Mother's Name : KIRAN SINGH
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 53 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 58 28 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 63 28 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 39 28 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 54 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 38 22 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0459 | | 0600 | | | 24.0 | 212.0 |
| | GRAND TOTAL | 0459 | | 0600 | | | 24.0 | 212.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000268
 Roll No. 255126157
 Regn. No. 25-DEO-1157

Name : SACHIN KUSHWAHA
 Father's Name : ARJUN KUSHWAHA
 Mother's Name : SUSHMA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 58 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 58 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 55 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 32 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 47 24 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 41 19 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0436 | | 0600 | | | 24.0 | 200.0 |
| | GRAND TOTAL | 0436 | | 0600 | | | 24.0 | 200.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000269
 Roll No. 255126159
 Regn. No. 25-DEO-1159

Name : SUBHAM GANGOPADHYAY
 Father's Name : KESHAB GANGOPADHYAY
 Mother's Name : RANU GANGOPADHYAY
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 25 18 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 28 25 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 38 22 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 31 24 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 33 24 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 29 19 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| | TOTAL | 0316 | | 0600 | | | 24.0 | 148.0 |
| | GRAND TOTAL | 0316 | | 0600 | | | 24.0 | 148.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 6.17

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000270
 Roll No. 255126160
 Regn. No. 25-DEO-1160

Name : PROSANJIT NATH
 Father's Name : PANDAB NATH
 Mother's Name : SARASWATI NATH
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 46 17 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 45 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 46 24 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 32 23 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 42 17 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 32 8 * | 40AG | 100 | P | 4 | 04.0 | 16.0 |
| | TOTAL | 0353 | | 0600 | | | 24.0 | 164.0 |
| | GRAND TOTAL | 0353 | | 0600 | | | 24.0 | 164.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 6.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000271
 Roll No. 255126161
 Regn. No. 25-DEO-1161

Name : JITENDER LOHAN
 Father's Name : RAJENDER SINGH LOHAN
 Mother's Name : SAROJ BALA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 55 20 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 55 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 53 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 36 19 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 30 22 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 31 21 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| | TOTAL | 0396 | | 0600 | | | 24.0 | 184.0 |
| | GRAND TOTAL | 0396 | | 0600 | | | 24.0 | 184.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.67

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000272
 Roll No. 255126162
 Regn. No. 25-DEO-1162

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

Name : HIMANSHU KALRA
 Father's Name : ANIL KALRA
 Mother's Name : KAMLESH
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 54 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 57 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 58 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 35 29 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 55 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 43 24 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0457 | | 0600 | | | 24.0 | 204.0 |
| | GRAND TOTAL | 0457 | | 0600 | | | 24.0 | 204.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000273
 Roll No. 255126163
 Regn. No. 25-DEO-1163

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

Name : KULDEEP
 Father's Name : KRISHAN AGGARWAL
 Mother's Name : VIMLESH
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 50 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 40 24 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 37 24 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 39 28 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 38 19 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 35 20 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0375 | | 0600 | | | 24.0 | 176.0 |
| | GRAND TOTAL | 0375 | | 0600 | | | 24.0 | 176.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000274
 Roll No. 255126164
 Regn. No. 25-DEO-1164

Name : MAYANK GARG
 Father's Name : GHANSHYAM GARG
 Mother's Name : RAJNI GARG
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 58 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 59 28 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 60 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 32 28 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 54 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 50 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0467 | | 0600 | | | 24.0 | 212.0 |
| | GRAND TOTAL | 0467 | | 0600 | | | 24.0 | 212.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000275
 Roll No. 255126165
 Regn. No. 25-DEO-1165

Name : DHARMENDER
 Father's Name : UMED SINGH
 Mother's Name : SHEELA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 48 18 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 48 25 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 20 20 * | 40AG | 100 | P | 4 | 04.0 | 16.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 25 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 49 25 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 48 18 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0381 | | 0600 | | | 24.0 | 172.0 |
| | GRAND TOTAL | 0381 | | 0600 | | | 24.0 | 172.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.17

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000276
 Roll No. 255126166
 Regn. No. 25-DEO-1166

Name : HANS RAJ
 Father's Name : DEVI SINGH
 Mother's Name : SANGLA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 48 25 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 52 30 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 60 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 27 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 55 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 45 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0451 | | 0600 | | | 24.0 | 204.0 |
| | GRAND TOTAL | 0451 | | 0600 | | | 24.0 | 204.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000277
 Roll No. 255126167
 Regn. No. 25-DEO-1167

Name : GAURAV KUMAR
 Father's Name : RAJ KUMAR
 Mother's Name : SANTOSH
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 44 24 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 58 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 51 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 39 29 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 60 25 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 40 25 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0448 | | 0600 | | | 24.0 | 212.0 |
| | GRAND TOTAL | 0448 | | 0600 | | | 24.0 | 212.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000278
 Roll No. 255126168
 Regn. No. 25-DEO-1168

Name : UTTAM KUMAR
 Father's Name : PRAHALAD
 Mother's Name : ARTI DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 59 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 55 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 58 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 58 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 50 20 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0464 | | 0600 | | | 24.0 | 204.0 |
| | GRAND TOTAL | 0464 | | 0600 | | | 24.0 | 204.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000279
 Roll No. 255126169
 Regn. No. 25-DEO-1169

Name : DEEPAK KUMAR
 Father's Name : ROHTASH
 Mother's Name : SAROJ
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 58 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 58 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 58 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 40 27 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 53 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 42 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0462 | | 0600 | | | 24.0 | 216.0 |
| | GRAND TOTAL | 0462 | | 0600 | | | 24.0 | 216.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000280
 Roll No. 255126170
 Regn. No. 25-DEO-1170

Name : SUMAN BHOWMIK
 Father's Name : HIMANGSHU BHOWMIK
 Mother's Name : SUTAPA BHOWMIK
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 52 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 54 29 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 59 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 39 27 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 52 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 43 26 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0457 | | 0600 | | | 24.0 | 212.0 |
| | GRAND TOTAL | 0457 | | 0600 | | | 24.0 | 212.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000281
 Roll No. 255126171
 Regn. No. 25-DEO-1171

Name : SAHIL
 Father's Name : RAJESH KUMAR
 Mother's Name : RAJWANTI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 55 21 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 41 27 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 45 25 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 31 27 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 53 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 49 29 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| | TOTAL | 0430 | | 0600 | | | 24.0 | 200.0 |
| | GRAND TOTAL | 0430 | | 0600 | | | 24.0 | 200.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000282
 Roll No. 255126172
 Regn. No. 25-DEO-1172

Name : MEHAK
 Father's Name : PARMOD KUMAR
 Mother's Name : ANJU
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 31 20 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 53 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 53 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 38 16 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 47 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 38 23 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0389 | | 0600 | | | 24.0 | 180.0 |
| | GRAND TOTAL | 0389 | | 0600 | | | 24.0 | 180.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000283
 Roll No. 255126173
 Regn. No. 25-DEO-1173

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

Name : APARNA TIWARI
 Father's Name : ANURAG TIWARI
 Mother's Name : SONI TIWARI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 51 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 59 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 58 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 40 26 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 60 25 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 47 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0468 | | 0600 | | | 24.0 | 220.0 |
| | GRAND TOTAL | 0468 | | 0600 | | | 24.0 | 220.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 9.17

DATED : JAN 22,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000284
 Roll No. 255126174
 Regn. No. 25-DEO-1174

Name : DRISHTI JAIN
 Father's Name : VINEET JAIN
 Mother's Name : POONAM JAIN
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 47 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 40 29 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 53 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 35 22 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 49 25 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 42 26 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0416 | | 0600 | | | 24.0 | 192.0 |
| | GRAND TOTAL | 0416 | | 0600 | | | 24.0 | 192.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000285
 Roll No. 255126175
 Regn. No. 25-DEO-1175

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

Name : AMIT
 Father's Name : KALAPNATH
 Mother's Name : MEERA SINGH
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 57 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 56 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 57 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 38 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 54 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 41 22 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0453 | | 0600 | | | 24.0 | 204.0 |
| | GRAND TOTAL | 0453 | | 0600 | | | 24.0 | 204.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000286
 Roll No. 255126176
 Regn. No. 25-DEO-1176

Name : MAHIRA
 Father's Name : PAWAN CHAUDHARY
 Mother's Name : SUSHMA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 56 20 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 50 17 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 60 21 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 36 22 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 59 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 54 22 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| | TOTAL | 0440 | | 0600 | | | 24.0 | 204.0 |
| | GRAND TOTAL | 0440 | | 0600 | | | 24.0 | 204.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000287
 Roll No. 255126177
 Regn. No. 25-DEO-1177

Name : SONALI
 Father's Name : SANDEEP KUMAR
 Mother's Name : MEENAKSHI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 52 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 57 28 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 61 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 36 28 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 52 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 31 22 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| | TOTAL | 0443 | | 0600 | | | 24.0 | 204.0 |
| | GRAND TOTAL | 0443 | | 0600 | | | 24.0 | 204.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000288
 Roll No. 255126178
 Regn. No. 25-DEO-1178

Name : JIYA
 Father's Name : PARVEEN KUMAR
 Mother's Name : SANGITA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 58 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 55 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 55 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 34 23 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 55 22 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 43 20 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0438 | | 0600 | | | 24.0 | 200.0 |
| | GRAND TOTAL | 0438 | | 0600 | | | 24.0 | 200.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000289
 Roll No. 255126179
 Regn. No. 25-DEO-1179

Name : PREETAM
 Father's Name : RAMKUMAR
 Mother's Name : BIRMATI DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 45 26 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 50 30 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 51 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 38 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 42 24 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 39 20 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0418 | | 0600 | | | 24.0 | 192.0 |
| | GRAND TOTAL | 0418 | | 0600 | | | 24.0 | 192.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000290
 Roll No. 255126180
 Regn. No. 25-DEO-1180

Name : SONAL SHUKLA
 Father's Name : GYANENDRA KUMAR SHUKLA
 Mother's Name : SANDHYA SHUKLA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 35 18 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 31 24 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 43 14 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 27 13 * | 40AG | 100 | P | 4 | 04.0 | 16.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 45 14 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 34 19 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| | TOTAL | 0317 | | 0600 | | | 24.0 | 148.0 |
| | GRAND TOTAL | 0317 | | 0600 | | | 24.0 | 148.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 6.17

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMIN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000291
 Roll No. 255126181
 Regn. No. 25-DEO-1181

Name : NITESH BHATTI
 Father's Name : DARSHAN SINGH
 Mother's Name : SAROJ
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 17 19 F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | AB 16 F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | AB 20 F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 28 21 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 21 9 F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | AB 17 F | 40AG | 100 | F | 0 | 04.0 | 0 |
| | TOTAL | *** | | 0600 | | | 24.0 | 020.0 |
| | | | | | | | 24.0 | 20.0 |

RESULT : RE - TILL JUN- 2027 IN : MBAD-101 MBAD-102 MBAD-103 MBAD-105 MBAD-106

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000292
 Roll No. 255126182
 Regn. No. 25-DEO-1182

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

Name : SONI SHAH
 Father's Name : P C RAM
 Mother's Name : MANTI DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 61 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 63 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 62 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 38 28 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 58 21 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 51 20 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0483 | | 0600 | | | 24.0 | 220.0 |
| | GRAND TOTAL | 0483 | | 0600 | | | 24.0 | 220.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 9.17

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000293
 Roll No. 255126184
 Regn. No. 25-DEO-1184

Name : MEENAKSHI GARG
 Father's Name : KAMLESH GARG
 Mother's Name : KRISHNA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 59 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 60 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 61 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 31 27 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 55 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 51 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0466 | | 0600 | | | 24.0 | 212.0 |
| | GRAND TOTAL | 0466 | | 0600 | | | 24.0 | 212.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000294
 Roll No. 255126185
 Regn. No. 25-DEO-1185

Name : KULDEEP
 Father's Name : JAI PAL
 Mother's Name : SHANTI DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 57 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 60 28 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 57 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 61 24 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 52 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| | TOTAL | 0473 | | 0600 | | | 24.0 | 216.0 |
| | GRAND TOTAL | 0473 | | 0600 | | | 24.0 | 216.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000295
 Roll No. 255126186
 Regn. No. 25-DEO-1186

Name : MANIK
 Father's Name : RAJESH
 Mother's Name : RINKU
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 59 22 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 55 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 55 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 39 26 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 55 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 49 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| | TOTAL | 0459 | | 0600 | | | 24.0 | 212.0 |
| | GRAND TOTAL | 0459 | | 0600 | | | 24.0 | 212.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000296
 Roll No. 255126187
 Regn. No. 25-DEO-1187

Name : DEEPAK
 Father's Name : LUNA RAM
 Mother's Name : MONIKA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 57 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 55 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 57 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 36 27 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 56 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 48 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0457 | | 0600 | | | 24.0 | 204.0 |
| | GRAND TOTAL | 0457 | | 0600 | | | 24.0 | 204.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000297
 Roll No. 255126188
 Regn. No. 25-DEO-1188

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

Name : ANKIT
 Father's Name : RAJA RAM
 Mother's Name : RUKMANI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 24 10 F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 30 13 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | AB AB F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 18 8 F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | AB AB F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | AB AB F | 40AG | 100 | F | 0 | 04.0 | 0 |
| | TOTAL | *** | | 0600 | | | 24.0 | 020.0 |
| | | | | | | | 12.0 | 20.0 |

RESULT : RE - TILL JUN- 2027 IN : MBAD-101 MBAD-103 MBAD-104 MBAD-105 MBAD-106

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000298
 Roll No. 255126189
 Regn. No. 25-DEO-1189

Name : SAKSHI BANSAL
 Father's Name : RAJAN BANSAL
 Mother's Name : PREETI BANSAL
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 58 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 58 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 57 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 38 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 57 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 49 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0469 | | 0600 | | | 24.0 | 208.0 |
| | GRAND TOTAL | 0469 | | 0600 | | | 24.0 | 208.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.67

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000299
 Roll No. 255126190
 Regn. No. 25-DEO-1190

Name : ABHISHEK MALHOTRA
 Father's Name : KANWAL KISHORE MALHOTRA
 Mother's Name : URMIL MALHOTRA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 57 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 54 29 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 60 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 38 28 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 53 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 51 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0469 | | 0600 | | | 24.0 | 212.0 |
| | GRAND TOTAL | 0469 | | 0600 | | | 24.0 | 212.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000300
 Roll No. 255126191
 Regn. No. 25-DEO-1191

Name : KOMAL
 Father's Name : GURDYAL
 Mother's Name : ANITA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 60 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 60 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 58 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 38 27 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 59 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 41 25 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0470 | | 0600 | | | 24.0 | 212.0 |
| | GRAND TOTAL | 0470 | | 0600 | | | 24.0 | 212.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000301
 Roll No. 255126192
 Regn. No. 25-DEO-1192

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

Name : CHAHAT
 Father's Name : RAJESH
 Mother's Name : POONAM
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 60 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 61 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 59 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 33 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 56 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 46 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0466 | | 0600 | | | 24.0 | 212.0 |
| | GRAND TOTAL | 0466 | | 0600 | | | 24.0 | 212.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 22,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000302
 Roll No. 255126195
 Regn. No. 25-DEO-1195

Name : ISHU THAKRAL
 Father's Name : RAJ KUMAR
 Mother's Name : JYOTI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 57 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 61 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 57 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 57 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 53 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| | TOTAL | 0477 | | 0600 | | | 24.0 | 212.0 |
| | GRAND TOTAL | 0477 | | 0600 | | | 24.0 | 212.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000303
 Roll No. 255126196
 Regn. No. 25-DEO-1196

Name : VIJAY JOSHI
 Father's Name : PRAKASH JOSHI
 Mother's Name : SHANTI JOSHI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 56 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 57 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 61 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 27 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 60 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 40 26 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0467 | | 0600 | | | 24.0 | 212.0 |
| | GRAND TOTAL | 0467 | | 0600 | | | 24.0 | 212.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000304
 Roll No. 255126197
 Regn. No. 25-DEO-1197

Name : AJAY JOSHI
 Father's Name : PRAKASH JOSHI
 Mother's Name : SHANTI JOSHI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 55 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 57 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 63 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 27 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 53 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 50 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| | TOTAL | 0472 | | 0600 | | | 24.0 | 216.0 |
| | GRAND TOTAL | 0472 | | 0600 | | | 24.0 | 216.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000305
 Roll No. 255126198
 Regn. No. 25-DEO-1198

Name : KHUSHBOO GOYAL
 Father's Name : NARESH GOYAL
 Mother's Name : KUSUM GOYAL
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 54 22 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 54 20 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 58 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 32 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 56 21 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 41 17 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0424 | | 0600 | | | 24.0 | 196.0 |
| | GRAND TOTAL | 0424 | | 0600 | | | 24.0 | 196.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.17

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000306
 Roll No. 255126199
 Regn. No. 25-DEO-1199

Name : GAGANDEEP KAUR
 Father's Name : BALVINDER SINGH
 Mother's Name : LAKHVINDER KAUR
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 31 9 | 40AG | 100 | P | 4 | 04.0 | 16.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 41 18 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 33 14 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 35 15 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 21 9 F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 28 12 | 40AG | 100 | P | 4 | 04.0 | 16.0 |
| | TOTAL | *** | | 0600 | | | 24.0 | 104.0 |
| | | | | | | | 24.0 | 104.0 |

RESULT : RE - TILL JUN- 2027 IN : MBAD-105

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000307
 Roll No. 255126200
 Regn. No. 25-DEO-1200

Name : ASHISH
 Father's Name : SULEKH
 Mother's Name : URMILA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 55 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 58 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 56 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 39 27 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 58 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 48 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0468 | | 0600 | | | 24.0 | 212.0 |
| | GRAND TOTAL | 0468 | | 0600 | | | 24.0 | 212.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000308
 Roll No. 255126201
 Regn. No. 25-DEO-1201

Name : HIMANSHU JANGRA
 Father's Name : DHARMBIR JANGRA
 Mother's Name : SUMAN
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 62 23 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 59 28 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 61 25 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 36 22 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 51 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 46 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0459 | | 0600 | | | 24.0 | 212.0 |
| | GRAND TOTAL | 0459 | | 0600 | | | 24.0 | 212.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000309
 Roll No. 255126202
 Regn. No. 25-DEO-1202

Name : SHIVRAM
 Father's Name : DEVENDER SINGH
 Mother's Name : MEERA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 37 17 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 52 20 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 50 18 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 34 15 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 44 17 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 32 15 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| | TOTAL | 0351 | | 0600 | | | 24.0 | 156.0 |
| | GRAND TOTAL | 0351 | | 0600 | | | 24.0 | 156.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 6.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000310
 Roll No. 255126204
 Regn. No. 25-DEO-1204

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

Name : YOGITA
 Father's Name : YASHPAL
 Mother's Name : SUNITA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 60 25 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 60 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 62 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 38 28 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 56 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 43 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0473 | | 0600 | | | 24.0 | 220.0 |
| | GRAND TOTAL | 0473 | | 0600 | | | 24.0 | 220.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 9.17

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000311
 Roll No. 255126206
 Regn. No. 25-DEO-1206

Name : JAISHRI
 Father's Name : RAJ SINGH
 Mother's Name : MEMWATI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 38 22 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 52 19 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 57 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 34 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 56 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 47 29 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| | TOTAL | 0427 | | 0600 | | | 24.0 | 196.0 |
| | GRAND TOTAL | 0427 | | 0600 | | | 24.0 | 196.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.17

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000312
 Roll No. 255126207
 Regn. No. 25-DEO-1207

Name : SAHIL SHARMA
 Father's Name : SUMESH KUMAR SHARMA
 Mother's Name : MEENA SHARMA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 50 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 57 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 54 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 36 15 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 54 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 40 10 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| | TOTAL | 0407 | | 0600 | | | 24.0 | 188.0 |
| | GRAND TOTAL | 0407 | | 0600 | | | 24.0 | 188.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000313
 Roll No. 255126208
 Regn. No. 25-DEO-1208

Name : KRISHAN
 Father's Name : RAJ KUMAR
 Mother's Name : SUNITA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 61 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 59 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 56 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 35 27 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 57 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 42 21 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0458 | | 0600 | | | 24.0 | 204.0 |
| | GRAND TOTAL | 0458 | | 0600 | | | 24.0 | 204.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000314
 Roll No. 255126209
 Regn. No. 25-DEO-1209

Name : VIBHA KUMARI
 Father's Name : SHIVDAYAL SINGH
 Mother's Name : URMILA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 54 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 57 28 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 61 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 38 27 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 53 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 42 21 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0454 | | 0600 | | | 24.0 | 212.0 |
| | GRAND TOTAL | 0454 | | 0600 | | | 24.0 | 212.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000315
 Roll No. 255126210
 Regn. No. 25-DEO-1210

Name : MAN MOHAN KUMAR
 Father's Name : VINAY KUMAR
 Mother's Name : ANITA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 52 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 57 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 55 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 39 25 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 59 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 48 20 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0457 | | 0600 | | | 24.0 | 204.0 |
| | GRAND TOTAL | 0457 | | 0600 | | | 24.0 | 204.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000316
 Roll No. 255126212
 Regn. No. 25-DEO-1212

Name : PAUL MININ DMELLO
 Father's Name : MININ
 Mother's Name : TARSHILA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 59 20 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 60 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 59 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 35 25 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 53 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 46 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0453 | | 0600 | | | 24.0 | 208.0 |
| | GRAND TOTAL | 0453 | | 0600 | | | 24.0 | 208.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.67

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000317
 Roll No. 255126213
 Regn. No. 25-DEO-1213

Name : JAGBEER
 Father's Name : MAHENDER SINGH
 Mother's Name : MEENA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 55 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 48 28 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 51 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 27 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 52 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 39 22 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0433 | | 0600 | | | 24.0 | 200.0 |
| | GRAND TOTAL | 0433 | | 0600 | | | 24.0 | 200.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000318
 Roll No. 255126214
 Regn. No. 25-DEO-1214

Name : RAJNIKANT KUMAR SINGH
 Father's Name : BASANT SINGH
 Mother's Name : SANTI DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 55 20 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 56 28 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 61 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 31 27 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 52 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 42 22 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0444 | | 0600 | | | 24.0 | 204.0 |
| | GRAND TOTAL | 0444 | | 0600 | | | 24.0 | 204.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000319
 Roll No. 255126215
 Regn. No. 25-DEO-1215

Name : SHALINEE VERMA
 Father's Name : RAJENDRA PRASAD VERMA
 Mother's Name : MADHU RANI VERMA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 54 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 46 28 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 58 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 34 27 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 58 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 48 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0450 | | 0600 | | | 24.0 | 200.0 |
| | GRAND TOTAL | 0450 | | 0600 | | | 24.0 | 200.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000320
 Roll No. 255126216
 Regn. No. 25-DEO-1216

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

Name : MEGHA
 Father's Name : ASHOK KUMAR
 Mother's Name : MANJU
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 59 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 58 28 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 59 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 38 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 54 20 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 44 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0457 | | 0600 | | | 24.0 | 208.0 |
| | GRAND TOTAL | 0457 | | 0600 | | | 24.0 | 208.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.67

DATED : JAN 22,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000321
 Roll No. 255126217
 Regn. No. 25-DEO-1217

Name : HARSH CHAUHAN
 Father's Name : MUKESH KUMAR
 Mother's Name : KAVITA CHAUHAN
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 56 22 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 58 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 53 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 53 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 40 21 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0442 | | 0600 | | | 24.0 | 200.0 |
| | GRAND TOTAL | 0442 | | 0600 | | | 24.0 | 200.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000322
 Roll No. 255126218
 Regn. No. 25-DEO-1218

Name : SUMIT KUMAR
 Father's Name : BALLU RAM
 Mother's Name : SARASWATI DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 53 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 55 29 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 59 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 28 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 60 20 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 56 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| | TOTAL | 0474 | | 0600 | | | 24.0 | 216.0 |
| | GRAND TOTAL | 0474 | | 0600 | | | 24.0 | 216.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000323
 Roll No. 255126219
 Regn. No. 25-DEO-1219

Name : VISHRUT KAUSHIK
 Father's Name : DR R P KAUSHIK
 Mother's Name : SUNITA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 52 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 56 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 55 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 36 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 51 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 41 23 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0437 | | 0600 | | | 24.0 | 196.0 |
| | GRAND TOTAL | 0437 | | 0600 | | | 24.0 | 196.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.17

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000324
 Roll No. 255126220
 Regn. No. 25-DEO-1220

Name : ANJALI
 Father's Name : SUSHIL KUMAR
 Mother's Name : SUMAN LATA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 61 25 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 63 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 63 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 39 27 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 61 24 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 46 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0485 | | 0600 | | | 24.0 | 224.0 |
| | GRAND TOTAL | 0485 | | 0600 | | | 24.0 | 224.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 9.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000325
 Roll No. 255126221
 Regn. No. 25-DEO-1221

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

Name : ROHIT KUMAR
 Father's Name : PREM CHAND
 Mother's Name : SALOCHANA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 59 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 45 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 59 20 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 39 27 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 56 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 52 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| | TOTAL | 0449 | | 0600 | | | 24.0 | 208.0 |
| | GRAND TOTAL | 0449 | | 0600 | | | 24.0 | 208.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.67

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000326
 Roll No. 255126222
 Regn. No. 25-DEO-1222

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

Name : BHAWNA JANGRA
 Father's Name : KRISHAN
 Mother's Name : ANITA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 49 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 51 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 50 19 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 36 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 52 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 37 20 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0408 | | 0600 | | | 24.0 | 188.0 |
| | GRAND TOTAL | 0408 | | 0600 | | | 24.0 | 188.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000327
 Roll No. 255126223
 Regn. No. 25-DEO-1223

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

Name : POOJA SHARMA
 Father's Name : DEVENDRA SHARMA
 Mother's Name : DEEPIKA SHARMA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 63 23 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 59 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 58 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 40 21 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 54 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 42 17 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0452 | | 0600 | | | 24.0 | 208.0 |
| | GRAND TOTAL | 0452 | | 0600 | | | 24.0 | 208.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.67

DATED : JAN 22,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000328
 Roll No. 255126224
 Regn. No. 25-DEO-1224

Name : PARWINDER
 Father's Name : BALWINDER SINGH
 Mother's Name : MANJEET KAUR
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 44 15 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 54 14 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 53 17 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 40 15 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 44 15 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 42 15 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0368 | | 0600 | | | 24.0 | 176.0 |
| | GRAND TOTAL | 0368 | | 0600 | | | 24.0 | 176.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000329
 Roll No. 255126225
 Regn. No. 25-DEO-1225

Name : RITIK SINGLA
 Father's Name : AJAY SINGLA
 Mother's Name : DEEPIKA SINGLA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 55 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 59 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 58 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 38 27 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 54 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 51 28 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| | TOTAL | 0474 | | 0600 | | | 24.0 | 220.0 |
| | GRAND TOTAL | 0474 | | 0600 | | | 24.0 | 220.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 9.17

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000330
 Roll No. 255126226
 Regn. No. 25-DEO-1226

Name : UJJAYAN CHATTERJEE
 Father's Name : LATE ASOKE KUMAR CHATTERJEE
 Mother's Name : GITA CHATTERJEE
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 42 18 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 42 22 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 46 20 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 22 20 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 46 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 41 15 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0357 | | 0600 | | | 24.0 | 168.0 |
| | GRAND TOTAL | 0357 | | 0600 | | | 24.0 | 168.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000331
 Roll No. 255126227
 Regn. No. 25-DEO-1227

Name : LAKSHYKA
 Father's Name : DEVENDER KUMAR
 Mother's Name : SADHNA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 49 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 38 29 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 52 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 35 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 54 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 37 23 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0414 | | 0600 | | | 24.0 | 192.0 |
| | GRAND TOTAL | 0414 | | 0600 | | | 24.0 | 192.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000332
 Roll No. 255126230
 Regn. No. 25-DEO-1230

Name : ANU BALA
 Father's Name : RAM PAL
 Mother's Name : SHAKUNTLA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 53 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 56 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 53 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 39 28 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 52 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 44 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0452 | | 0600 | | | 24.0 | 212.0 |
| | GRAND TOTAL | 0452 | | 0600 | | | 24.0 | 212.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000333
 Roll No. 255126232
 Regn. No. 25-DEO-1232

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

Name : ADITYA KUMAR YADAV
 Father's Name : A K YADAV
 Mother's Name : REKHA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 48 24 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 59 28 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 55 27 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 27 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 52 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 40 26 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0447 | | 0600 | | | 24.0 | 204.0 |
| | GRAND TOTAL | 0447 | | 0600 | | | 24.0 | 204.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : JAN 22,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000334
 Roll No. 255126233
 Regn. No. 25-DEO-1233

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

Name : JITENDER KUMAR
 Father's Name : NARENDER KUMAR
 Mother's Name : MANJU DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 47 17 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 52 17 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 53 18 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 32 19 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 58 22 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 38 21 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0394 | | 0600 | | | 24.0 | 180.0 |
| | GRAND TOTAL | 0394 | | 0600 | | | 24.0 | 180.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.50

DATED : JAN 22,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000335
 Roll No. 255126234
 Regn. No. 25-DEO-1234

Name : DEEPAK KUMAR
 Father's Name : MOHAN LAL
 Mother's Name : REKHA RANI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 54 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 45 28 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 44 27 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 36 27 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 44 21 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 42 11 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| | TOTAL | 0402 | | 0600 | | | 24.0 | 184.0 |
| | GRAND TOTAL | 0402 | | 0600 | | | 24.0 | 184.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 7.67

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000336
 Roll No. 255126235
 Regn. No. 25-DEO-1235

Name : THATIPARTHI SAI SOWMYA
 Father's Name : THATIPARTHI SRINIVASA RAO
 Mother's Name : THATIPARTHI LAKSHMI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 50 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 62 28 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 60 26 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 38 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 58 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 50 20 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0467 | | 0600 | | | 24.0 | 212.0 |
| | GRAND TOTAL | 0467 | | 0600 | | | 24.0 | 212.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000337
 Roll No. 255126236
 Regn. No. 25-DEO-1236

Name : SIMRAN
 Father's Name : VINOD KUMAR
 Mother's Name : BABITA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 45 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 43 28 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 49 28 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 37 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 56 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 42 21 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0421 | | 0600 | | | 24.0 | 192.0 |
| | GRAND TOTAL | 0421 | | 0600 | | | 24.0 | 192.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000338
 Roll No. 255126237
 Regn. No. 25-DEO-1237

Name : VASUDEV
 Father's Name : RAJESH KUMAR
 Mother's Name : SUMITRA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 56 22 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 45 27 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 50 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 38 24 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 53 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 44 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0427 | | 0600 | | | 24.0 | 196.0 |
| | GRAND TOTAL | 0427 | | 0600 | | | 24.0 | 196.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.17

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000339
 Roll No. 255126238
 Regn. No. 25-DEO-1238

Name : GOURAV
 Father's Name : KANCHAN
 Mother's Name : RAJENDER KUMAR
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 54 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 52 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 53 26 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 30 26 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 50 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 43 21 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| | TOTAL | 0432 | | 0600 | | | 24.0 | 200.0 |
| | GRAND TOTAL | 0432 | | 0600 | | | 24.0 | 200.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000340
 Roll No. 255126239
 Regn. No. 25-DEO-1239

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

Name : SANDEEP KUMAR
 Father's Name : DILBAG SINGH
 Mother's Name : SHEELA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | AB 23 F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | AB 26 F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | AB 26 F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | AB 23 F | 40AG | 100 | F | 0 | 04.0 | 0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 39 17 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | AB 23 F | 40AG | 100 | F | 0 | 04.0 | 0 |
| | TOTAL | *** | | 0600 | | | 24.0 | 028.0 |
| | | | | | | | 24.0 | 28.0 |

RESULT : RE - TILL JUN- 2027 IN : MBAD-101 MBAD-102 MBAD-103 MBAD-104 MBAD-106

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000341
 Roll No. 255126240
 Regn. No. 25-DEO-1240

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

Name : ANJALI
 Father's Name : JAI PARKASH
 Mother's Name : DHARSHNA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 38 6 | 40AG | 100 | C | 5 | 04.0 | 20.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 45 14 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 47 20 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 35 15 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 50 10 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 37 16 | 40AG | 100 | B | 6 | 04.0 | 24.0 |
| | TOTAL | 0333 | | 0600 | | | 24.0 | 156.0 |
| | GRAND TOTAL | 0333 | | 0600 | | | 24.0 | 156.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 6.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000342
 Roll No. 255126241
 Regn. No. 25-DEO-1241

Name : GOURAV KUMAR
 Father's Name : ANIL KUMAR
 Mother's Name : SUNITA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|--------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 47 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 60 29 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 58 27 | 40AG | 100 | O | 10 | 04.0 | 40.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 38 24 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 53 24 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 42 23 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0447 | | 0600 | | | 24.0 | 208.0 |
| | GRAND TOTAL | 0447 | | 0600 | | | 24.0 | 208.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.67

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000343
 Roll No. 255126242
 Regn. No. 25-DEO-1242

RESULT-cum-DETAILED MARKS CARD
 MASTER OF BUSINESS ADMN SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

Name : PARAS
 Father's Name : SUNIL KUMAR
 Mother's Name : RENU
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

| Sr. No. | Subject | Marks Obtained | Minimum Pass Marks | Maximum Marks | Grade Letter | Grade Points | Credit | Credit Obtained |
|---------|--|----------------|--------------------|---------------|--------------|--------------|-------------|-----------------|
| 1 | MBAD-101 MANAGEMENT PROCESS & ORGANIZATIONAL BEHAVIOUR | 56 22 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 2 | MBAD-102 FUNDAMENTALS OF STATISTICS FOR BUSINESS DECISIONS | 55 25 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 3 | MBAD-103 MANAGERIAL ECONOMICS | 61 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 4 | MBAD-104 FINANCIAL ACCOUNTING | 34 23 | 40AG | 100 | B+ | 7 | 04.0 | 28.0 |
| 5 | MBAD-105 BUSINESS COMMUNICATION | 56 23 | 40AG | 100 | A+ | 9 | 04.0 | 36.0 |
| 6 | MBAD-106 INDIAN ECONOMY AND BUSINESS ENVIRONMENT | 46 22 | 40AG | 100 | A | 8 | 04.0 | 32.0 |
| | TOTAL | 0446 | | 0600 | | | 24.0 | 204.0 |
| | GRAND TOTAL | 0446 | | 0600 | | | 24.0 | 204.0 |

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____